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Which of the following are incorrectly paired?

1.  PFMS — Public Fund Management System
2. RCi — Rehabilit-ation Council of In'dia

3. NTA — National Testing Agency

4. ISL — Indian Secondary Language

(A) 1 and 2 are incorrect ‘

(B) 2and3are incorrect

(C) 38 and 4 are incorrect

(D) / 4 and 1 are in;:orrect

(E) Answer not known

SeramalaTadpIdT rerey Seups GlaamsalL Hiaeng? -

1.
2.
3.

4.

@)
®)
©)
®)
(E)

PFMS — Public Fund Management System

RCI — Rehabilitation Council of India

- NTA — National Testing Agency

1SL — Indian Secondary Language

1 wppb 2 geprareae
2 whHpd 3 soupraTenc
3 wpob 4 seuprETEG
4 wppid 1 sesprarana

afllanL Qgilweildenay
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2.  Reliability is to validity as

(A) Content is to construct (B) Accuracy is to error
(Cw”Consistency is to truth (D) . Objectivity is to practicability
(E) Answer not known

LSS0 cremlg) Shijaaamo Grime

(A)  Qurmer_sawb eramug o Haumssd Gurd

B)  gioallub erémug Geop Cumad

€) Peagsedan g 2 arewnssdaremo GLD
(D) uparugsarew erdmig LB GLiTe
(B) &ferr Qsfwefdana

3.  The record which reflects the factual description of the meaningful
incidents and events which the teacher has observed is

(A) Case-study (B%necdotal
(C) Self-reporting (D) Sociometric
(E) Answer not known

ﬁeﬂlﬂur‘r a.%g@prrésé‘lu.l é{r'r'év,@mm DLk whgb BEpeysefer o aranio
aTS&Sang Ll f@.l@

Sluals@n u
(A) seflumer oyiiay ' B) fapeudsems
O sw-=fsamas ' D) saps sareneu

(E) ol Qsfwefdae

4.  Item analysis for tests are used to measure ——— achievement.
(A) Absolute (B) Individual
(CW” Relative ' (D) Independent
(E) Answer not known '
Garoys@nssren  eflamiL@lunile ——— — oL cSemer <6l wl
LretTU (h &l mgl.
A) opyevwurer | (B) sefluiuc
(C) QsmiryenLu (D) srrupo

(B)  ofenr. Qsfiueiaama

DEOMIV/23 4 B



Arrange the following environmental conventions in chronological order :

1. Stockholm Convention
2. Kyoto Protocol
3. Vienna Convention

4. Rio Summit

2 1 3
(B) 4 3 1 2
4 2 1
4 3 1
(E) Ans;rver not known
Qereu(Hd SHMEFESHD wIPTsEISmer sreo euflmslig REHUESMLESaD
1. evLrsGapmb rpg
2. &CwmsGLr Qphlaperm
3. @S\u_tehm'rr LOMDNS

4. MGur wrprs

A) 4 2

(B) 4 3 1 2
© 3 A DR
D) 2 4=l g 1

(E) ofen Qzflwsfidana
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6.  Which of the following are incorrectly paired?

1. Idealism —  Swami Vlivekananda

2. Naturalism - Bertrand and Russell

3. Pragmatism -  Charles Sanders Pierce

4. Realism — Jean Jacques Rousseau

(A) 1 and 2 are incorrect (B) 2 and 3 are incorrect
(C) 4 and 3 are incorrect | (Dﬁand 4 are incorrect

(E) Answer not known

NléralmeuameupmieT eTene Beups @) e e sl HETeTs ?

1. smsdwe Qerdrems —  seumd eNCeusrehsi

2.  Qubmss ssseub —  GuFC e Fevevd

3. | Lwererenaus Qmmdtens  —  sTfiaed EI‘I’@‘O‘I:L...T'FG‘fUI_CﬂU_Iﬁ‘GfD

4.  wgnisss Cardrens —  sher mrs@alen epGeT

(A) 1 opobd 2 sapraieme (B) 2 wppb 3 seupreneney
© 4 wpgd 3 seuprenanen D) 2 vpmbd 4 seuprarana

(E) eflani. GzMweiicdrena

DEOMIV/23 6



In the context of multiple choice questions ‘option is to distractor’ as

(A) Objective test is to essay test

(B) Answer kejr is to raw score

(C)A)ossibi]ity 1s to mistake

(D) Multiple choice item is to true-or-false item
(E) Answer not known

uenapaer cdamssar Gale el@priug Qsfle aeaig dasdmriurar Gume
(A) uyperws Csira erénug s Heny Goirey Gumed

(B) sflwurar e ez wHIGuar Curd

(C) srsHws snpi erarug gonm Gumed

D) udnpanar el ez Fl-ivwg-poug eflamr Guired

() oSer Gsfualdame

In the context of Maslow’s hierarchy of needs ‘employment, resources,
health, property’ are needs that are categorized under

~ (A) Love and belonging needs (B) Esteem needs

(C) Self-actualization needs (DY Safety needs o

(E) Answer not known

wrevGarelenr Gsaeaws ugfleoas GGrdd ‘Ceoame, aEmpPOBISET, 2160
= Crmsfwd, Qsrgg’ Gurap @iCsmeusdt ——— Csaausaildar &
Senw LRSS (HlereTe. ¢

(A) =amy wpgibd 2 ferws Camasdr (B) whius Csmeuser

(C) searepemiiays Caemaeusar D) ursismiyg Caamaiser

(B) ofenr Qzflweddana -
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9.  Open and Distance learning in India was introduced by
(A) Madras University
(B) Mumbai University
(C) B.R. Ambedkar University

(DY’ Delhi University
(E) Answer not known

@pHureie HpbsHioo wHps Qsraagms sdelowu Hfepsiusdug
(A) Qearmarni LOSDDOESPED

B) weu LdsmOESDED

(C) B.R. snCugsi Losmesspsid

D) QLo LosmOESPED

() elaL Qsflusiaame

10. The sanitation program (Nirmal Bharat Abhiyan) was established by
Government of India in the year

(AN1999 (B) 2009
© 2019 ©) 2023
(E) Answer not known

FETSMSA LD (Biwd urys S Gwren QhHu eirend Hpeurin L s
(A) 1999 ' (B) 2009
() 2019 (D) 2023

(B)  eflen QgRlucicrena

DEOMIV/23 8 B



11.

Assertio_nr [A] :

Reason [R] :

Continuous and Comprehensive Evaluation (CCE) helps

the teacher tb assess student progress continuously.

CCE does not contribute the teacher organize effective

teaching strategies.

(A) Both [A] and [R] are true; and [R] is the correct explanation of [A]

(B) Both [A] and [R] are true but [R] is not the correct explanation of

[A]

(C) {A] is false, [R] is false

(D)/fA] is true, but [R] is false
(E) Answer not known

DGO TETLD [A] -

smyemid [R] :

Qgmei  wppd Gsreoy  wHSE (CCE)  wremreursefier
wpaCappsens Qamiéflurs  wHub. PAfuisEsss
2 sodlpg.

Snende sH9sss 2 sHsmar gumsewvss ANumss CCE

vrugeafltingeene.

(A) [A] wpgw [R] @ran@d sfwurer empm wppid [R] <pers [A] &fipsme

sRwner eflerdsid.

B) [A] wppw [R] @rarpind sfluraremer =yerired [R] =@z [A] efipsren

sflwmer eletdsd jehed

(©) [A] sawrear sapmy [R] sfurers

D) [A] sftwrar spp [R] seupreng

(E) &fenr Qsflwaideme

9 DEOMIV/23
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12. Linear Programming is to branched programming as

(A) Intrinsic is to scrambled (BY Unilevel is to multilevel

(C) Ability is to achievement (D) Feedback is to understanding
(E) Answer not known

Barflener S L 16l gnde deereud S B Cumey

(&)  edramips aeug Hzdlu Gurd  (B) erflee g uddios Guird
(C)  Hper eremug) ewaameans Gured (D) Gengm L ererLg Hilseneors Gumed
(E) oL Gsflueidma

13. The idea that there should be a Central Advisory Board of Education
(CABE) was first put forward by

[
(A) Hunter’'s Commission (B) Hartog Committee

(C)/Sadler Commission (D) Abott Wood Committee
(E) Answer not known

i soell yCarsmas G (CABE) adam gn sw@oiy @mss Cauar@on
@ SGEMS (PHEomibss)

(A)  apem_i Gupwib (B) aprriré @@ _
(O  emlenr @b D) pum_-21 @
(B) efer Qsfwusiideame

14. Gender Budget has been made a part of the Union budget of India since

(A 1956 (B) 2022

(© 2014 005

(E) Answer not known '

urellerr aige) Geswes Sl QpHursiear wiHu arey Qewes S sHear qm

LGSHWITS WIHOLUILIT L 6T

(A) 1956 B) 2022
€) 2014 : (D) 2005
(E) e Asfuaddama

DEOMIV/23 10 8



15. Which of the following statements are given by WHO to refer to the term
“Health”

(@) Health is the quality of life vigorous and free from diseases :

(i) Health is a state of complete physical, mental and social well-being
and not merely an absence of diseases or infirmity

(ii1) Attainment of a level of Health will enable every individual to lead a
socially and economically productive life

(A) () only

(B) (1) and (111) only
(C) @) and (1) only
@Y and (i) only
(E) Answer not known

‘Crrsdlund’ eraty Qerdee olarss WHO oyé Qaraimbd ofisamssafle aamar
Qarhiésru’ Hdreng) ?

(i) oCrmsdub g spspLUTer oHob  Corisadsss  AELLL
uMpdensubler Srb

() <Grrsdub erérug PE@WLWTET 2L, 2. @eT DHMID &ips Baoeurpheier
Bleney Gogb Crmisar idag 2.1 DEGoD Goarsgl WL HLode

(i) gaQeanm selBuGsED sups wHgnd Qureemgmy fH¥lore 2 HLsH
aurpsamsenul bLgieush@ 2 sajb HCrmsdwflae

4) @ wi@Eo

(B) @ wpmud (1)) wr @b

©) @ wpgd (i1) wE

D) (i) wHmb (111) b

(E) een Gafluaidene

.
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16. How many ‘Sustainable Development Goals’ were adopted by United

Nations? .
A) 15 (B) 16
(0)47 - (D) 25

(E) Answer not known

8L prosdT souurd assoar Bhss Hoourer e OGS qhns

GSTFGiTGTJJLII'_-I_GbT’?
(A 15 (B) 16
€ 17 (D) 25

(BE) eler QaMwaicvena

17. The ‘Environmental Protection Act’ was enacted in the year
(AW 1986 . (B) 1990

© 1996 D) 2000
(E) Answer not known

‘&‘rgbgu#@@sb LINGISILILE FULb’ @Ll.ljj)g_f)l.‘]l.ll.’.L. 2L (H
(A) 1986 (B) 1990
(C) 1996 (D) 2000
(E) - Qe Qzfiueldensd

18. Name the theory which is concerned with behavior as a response to

stimuli. - . _
(AW”Black-box (B) White-box
(C) Red-box (D) Green-box

(E) Answer not known

arpsosEnsE — ahredleanuins  Bugeg  Fowhpsoulc.  Gamiumiigng

WIFlL&yLd
A)  smuL-Guiiyg. (B) Qaudrenar-Quiig
(C) Aeauy-Guiig (D) uéees-Quiliy

(E) eflen Gzflucidama

DEOMIV/23 12 B



19.

20.

21.

The learning which is not apparent in the learner’s behavior at the time :
of learning, but which manifests later when a suitable motivation and
circumstances appear

(A)/i;atent Learning (B) Insight Learning

(C) Social Learning (D) Experimental Learning

(E)" Answer not known

%gﬂ Qb UIEHSWINGT SHDE. %@Lb,_@c? sppeSlen Gurgl qs,u')ue.urﬂc.;h BL sl
auafitilien_wirss Qaflung, e CumhSsoTar 2 b5 DML Gpiblenav e

Ggrarmih Gung GeuafiiLiib. ' ‘ :

(A) o drammihs WHPS (B) o sr Hs sHped

(C) sapss sppe (D) Gsrgamans sHpe

(E) aﬁlrmL_.Gg,aﬂu_laﬁldJmm

According to which article of the constitution ensures participation of
women in Panchayat Raj Institutions by mandating not less than 1/3+ or
33% reservation for women?

(Ay/@;sD ®B) 340
© 16 - (D) 15

(E) Answer not known

erflueamornier abs s 19flelarnig, Quéiures@é;@ ppeMied 6(p URIE gg

8@1&5&@ (33%) SLLTLDTHEGAUSET @pOb  UEHFIUSE TR Ppeuembisamd
Lamasafler Liiseiieu 2 nif beldpsl

(A) 243D ' (B) 340

<G 16 (D) 15
(F) oo Qsfluciome

Which factor does not have much influence on the formation of Gender
Stereotypes? "

(A)A]volutionary factor (B) Cognitive factor

(C) Social factor (D) Emotional factor

(E) Answer not known

Linelien SLIQUETETRGHT 2 (FeUTSES5MS b amyertl Guflsns urglssng) ?
(A) uflewmo eueriEd sryeed (B) sifeurpped smyenfl

©) soaps syertl (D) werQeugpss smyewtl
(E) &ent Gaflwaileend

13 DEOMIV/23
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22.  Which order is correct as per Piaget’s theory of cognitive development?

1. Pre-operational stage, concrete operational stage, forma_l operational
stage, sensori motor stage

2. Sensori motor stage, pre-operational stage, concrete operational
stage, formal operation stage

3. Formal operation stage, concrete operatlonal stage, pre operational
stage, sensori operational stage

4. Sensori motor stage, formal operation stage, concrete operational
stage, pre operational stage

A 1 (B}{

© 3 : (D) 4

(E) Answer not known

Wur@g'er siflamppd eaieds Gamum gery Gereumb  aflamsuddo Tl

eflwimeng) 2

1.

(A)
(©)
(E)

Qrudum (s whosubon, garrdaarhs Ceswdur’ Hflee, pamuimer
Qewdum_GHleame, 2 emieay Buissblaa ‘

eanfie) @Qubsblaw, Ceuoumn G&e iosulaw, R(HaE enaHS
Gewdum GHiflae, panpuimer Gewdum Hflee

(PEn DTG Qewoun_pflow, ° gorudoams  Qeudur GEloe,
GeEwdum’ Hd&E phoswu Heaw, 2 ariay Busshlene

seamiey Qussflene, wepwrar G]a:u_:a)urn_(b\rﬂsmso RHBE e
Geudum fflemon, Qruour_GEg whmsw Hleneo

1 B) 2
3 D) 4
sflen_ Qs flueidans

DEOMIV/23 14 : B



23.

24.

10+2+3 pattern of education system was recommended by which one of
the following? '

(A)/’I’{othari Commission

®)
©
(D)
()

Eswar Patel Committee

Malcolm Adiseshah Committee

New Education Policy
Answer not known

10+2+3  aeaip  soell D Geraumaieraupble  THES  GHpeuTed
ufbglengselILr L gl ?

&)
(B)
©
D)
(1)

Carssmil &

reveulr LGLE G
wrosb HHGragewr G
LEw sdeils Camdrans .

afenL Gafluedeame

In which year central Advisory Board of Education was
established/founded and when was it dissolved?

(A)/lgzo and 1923

B)
©
(D)
(1)

1926 and 1930
1937 and 1945
1928 and 1947
Answer not known

wsHu sl cgg,(ﬁsnrr&mcﬂ aumfluh eThs perh ﬁgumuul_l_gj whHpib cru(%urrgj
Sjeeumiiuh senadsiulLg?

Gy
(B)
©
@)

(®)

1920 wpmop 1923
1926 whmb 1930
1937 wpmpud 1945
1928 wopmb 1947
elenL. Qgflweioen

15 DEOMIV/23
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25. Which report indicates that in India 47% of married women are between
the ages of 20 and 24?

(A) National Commission for Women
(B) Women and men in India 2021
(OWBtate of World’s Children 2009
(D) Gender Equity report

(E) Answer not known

@ndlureiia Hmweamorer Quemseiia 47% Cur 20 WPsD 24 anngiseE Ul L auiser
aray ehg bisms GHGGEng ? |

(A) Csflw wsefdrt yeerrun

B) @rdureler Queimsdr wHmib eysmser 2021
C) ews siossaien Baver — 2009

(D)  urelar gz oBEms '

(B) ofeL Asfucdadma

26. Choose the correct match for SQ4R:

1. Survey, Question, Read, Reflect, Recite, Review

2. Survey, Question, Result, Repeat, Reproduce, Recall
3. Summary, Question, Ready, Response, Recite, Review
4. Suggestion, Quality, Read',-Recognice, Reflect, Recite
Aaw”1 (B) 2

€ 3 D) 4

(E) Answer not known

SQ4R & sflwnar sfe_ew Csiray G]stf;lu_:eqfo.

1. sewmsQs@l, efanr, aurdlgse, GrHualgsd, waniurib, einissd

2. sewsQsHry, efamr, efepL, Sou smpsd, Sar@n Qs, GHTISLILH S5
3. OsrEss®, odam, sunt Qeiigd, Ll snpe, weriunib, eflwiFarid

4. sCeremen, gib, crdsso, sar e, 9yduadssd, el

A) 1 - (B) 2

€ 3 D) 4

(B)  oler Gsfluelaena

DEOMIV/23 16 B



97.  Which of the following statement is true about curriculum?

(1)

(i1)

Curriculum is a means by which the aims of Philosophy of education

are attained.

Curriculum is a runway, a course which one runs to reach a goal, a

course of study.

(iﬁ) Curriculum is defined as ‘Science of sciences’.
(4) @) only

(BVG) and ;i) only

(C) (1) and (i1i) only

(D) (ii) and (iii) only

(E) Answer not known

s@O5H Lozt uplu 1Sereumd amppseaid aame 2 dramowrar Fpo?

®

i)

(ii1)
(A)
®)
(©
D)
(E)

s@@FHLID aaug soeluldar sagieusdear CHrEsHsmaT DL alFhaTar

20 auflpepunELd.

S@OSE LD TG @ Qeosans SBLUSHETS RO @M LMD, @0
Lblg UL, :

s@@FHLD aerLg ‘siflelludldr eiflefiued’ aar amrumEsiLGEDg.
@) L

@) whpib (i1) LG

() whpge (1) wrGibd

(i) whppb (1) o Gub

HenL Gaflwelidens

17 'DEOMIV/23
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28. Which learning theory follows the empirical model of educational
philosophy?

(A) Idealism
(Bﬁragmatism

(C) Naturalism

(D) Existentialism

(E) Answer not known

abs spped GCariur®, shdls ssglausdar Qeudstips iguer wrAfawr
Qe pmidlma 2

(A) smsHue Qsrerans

(B) uwernareneus Qsmérens

©) @gu DdESH5EI6uE QaTeTans
D) BEssdud Asrims

(E) oL Qsfluefdena

29. In the year 2018, —— has decided to setup an Inclusion panel for
children with special needs.

(A)/(‘}‘entral Board of Secondary Education (CBSE)
(B) Special Education Program (SEP)
(C) University Grants Commission (UGC)

(D) National Council for Educational Research and Training (NCERT)
~(E) Answer not known

2018 b HdTRD, ahs el Aplys  Comeusaers  QEmTeL
GUYEDSHEREETE RFAEMMTES &(pmal BIEDIDES (P16 blFligldreng ?

(A)  wsPu Qe Hleows soal curflun (CBSE)

B) Hpuys seels S (SEP)

(C) uasmessps wrellus gy (UGC)

D) a6 rmusd vogb LEHAGSTET Csflw seyendled (NCERT)
(E). e Qsfwsioema

DEOMIV/23 18 p



30. The 5E instructional model based on constructivism was developed by:

31.

(A) John Dewey

(Bﬁioog_er Bybee

(C) Herbert Spencer
D) Godfrey Thomson
(E) Answer not known

o} HHELILLITE Gﬁﬁggﬁm oliueL e bE eplemgsd wrd fulener &@G}JIT&'SE%]UJG)JT:Y

(A g

(B) CGrmrgir ewLnd

(C) Qeniuin avGLieha
D) i FbEesT

(B) ofen Qzflwsilcoenco

Choose the learner centred curricular activity from the following:
(A) Lecturing

(B) Team teaching

(C)/%’roject work

(D) Video lesson

(E) Answer not known

Sipssaim_cupbled LoTeRTaT GRLOL soasl L Qeudum e Csipas®:
A)  efifloer LHDISD

B) o spdsse

() GswéofL vew

D) srGemmefl LD

(E) &leo Gaflucidensd
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32. Read the given two statements :

Statement I: Distance education has replaced the formal educatlon n
India.

Statement IT : Distance education reduces the cost of education.

In the light of above statements, choose the correct answer from the

options given below:

(A) Both the Statements I and II are true

(B) Both the Statements I and IT are false

(C) StatementIis true but Statement IT is false

(Dﬂatement I is false but Statement II is true
(E) Answer not known

CEr@ssiiL’ Gerar 8 ranE FaHNISEOET Liig W{BISET:

gpm 1 Oerevogms  soef  @pduredn epepwiner  seailanw
orHblu|drerg.

wpmp I Qsreegiys saell, a6l Hs Qswal@b Cgramsamu GSODSE DS

Copser.  smppsaien  wigiLemL @, Sp&sam_aipper  sfwrar  eflapLeow
Caip0sE-

&) anpp I wpmid spg 1T oA

(B)  mpp I wppo sapy 1T g

(©) . mpp I ol gpams sapm IT sau

D) opp I gosg wpemmed smpgy 11 &
(B). deoL Osfuddas
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33.

34.

35.

Who was the Chairman of the Secondary Education Commission?

(Aﬁr. Lakshmanaswami (B) Dr.S. Radhakrishnan

(C) Shri. Raghukul Tilak (D) Shri. P.D. Shukla

(E) Answer not known

QoL Hows sodl G Sl ganwalyrs LemiwrdBlwieu T wiri?
(A) Dr. e swamrseums (B) Dr.S. @gngndmeigeumrer

(C) Shri. Qrese Hos (D) Shri. P.D. ssen

(B) efer Gafuieldema

Piaget’s theory of cognitive development consist of ——— stages.
A 2 B 3

V% BERCY:

(E) Answer not known

1SuinGeaflan aifldper Gam_uml ———— Ly Revewseners QarambeTeTs.
(a) 2 : : B) 3
€ 4 D) 5

(B) ofer Qafliciiorenco

The scale of measurement that starts from zero and contains units of
equal size is called

(AW Ratio scale | (B) Interval scale

(C) Ordinal scale (D) Attitude scale
(F) Answer not known

g Soei® UHRusHSBHS) Qarmd LHoID &0 DleTElRIET OGS
QBTG GHSTED BAHSH DTN GTELOITD SIMPSEHOMD ? ;

(A)  offlg erey (B) @en Qeual oiemey

(©) aupsswren oare GHmd (D) siEmiGueep SeTe)

() &fen Qpfliseilaena
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36. Who among the following is associated with ‘Didactic Apparatus’?

(A)  Froebel (B) Herbert Spencer
(C aria Montessori (D) Pestalozzi
(E) Answer not known

‘LT s@mell’ wLew Qam e _waeuf wimi?

(A)  SyCrmGued (B) Qapr@ui evQuers
(O  wAwr wreimg Cemf (D) QuayL_Geord

(B) oo Gsfudidame

37. “Tolstoy Farm’ an ashram for Gandhi’s educational experiment is
situated in '

(A) New Delhi (B) Wardha
(C) Germany (Dﬁouth Africa

(E) Answer not known

sMpS L salar el fSBbsmIsmaTs Qaram_. LIdeoLm <o DADBEIGTET
@b

A)  ug Qe (B) anign
(C) Qgiwef (D) Qser eyrifsar
(B) oo Qsfwefdoamea

38. ‘Sarva Shiksha Abhiyan’ programme was started in

(A) 1996 (B) 2000
(CW2002 D) 2005
(E) Answer not known

sfiey SlEsm ouSurer St b < rbAssiL L oy 6TH
(A) 1996 (B) 2000

(C) 2002 (D) 2005
(E) e Qsfweldme
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39.

40.

41.

" The Chairman of the National Education Policy 2020 was

(A) Dr. Sam Pitroda (B) Dr. Azim Premji
(C) Dr. Kothari “( r. Kasturi Rangan

(E) Answer not known

CsAw sdoails GardaTens 2020601 6T

(A) Dr. smb 9 Ggrr (B) Dr. 18w lﬁi@!}ﬂ)_@
(C) Dr. Ganggfl (D) Dr. sevgnft griser
() e&ler Qzflueidoame

The Philosopher associated with the concept of integral education is

(AW Bxi Aurcbindo (B) Swami Dayanand
(C) Bertrand Russel (D) Froebel

(E) Answer not known

@@lﬁjélsmsuﬁrg‘r;g soell eTanD HHSSILGT QSTLILeL W SSgeieirg

Q) uF apeipst (B) samf swrembd

(C) Qui gan® Fea (D) &uCrrQué
(B) oS Qzflucieene

‘Education is the creation of ‘a sound mind in a sound body’, the
statement was said by

(A) Plato (B) Socrates
(Cw”Aristotle (D) Rabindranath Tagore
(E) . Answer not known '

“sael CreLS @ BO® 21 Bl Q@ BO® LOATDS %mn&@mg” eTGHM FnhenD .
aalwicit

(A) YGCGer GLm - (B) smaped

(C) =fevLrmiige (D) @retpdyprs sranit

(E) oo Osflueildme :
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42. ———— is a behavioral procedure that focuses on the learning of
involuntary emotional or Physiological responses such as fear and

muscle tension.

(AWlassical conditioning (B) Operant conditioning
(C) 'Trial and Error (D) Gestalt

(E) Answer not known

——_—}%l_gmg, Geudapap LW wHgb sms LEHPDL Curdn setalFmaLimarn
LD &l (Lp & S|deg| 2 1L 6Slwicd Gréﬁzraﬁlmeﬂassmm gD N&E TS ET

Gl psEEpg-
&) <ss Poolnssn (B) s@melsrt o585 Hoolinssib
O puey sadssbpod (D) Qggevrmer

(B) oo Osfueidma

43. The Right of Children to free and cbmpulsory education (RTE) A&t, 2019
was enacted based on which Article of Indian Constitution?

(A) Article45 (B) Article 30(1)
(C) Article 51 (D¥Article 21(A)
(E) Answer not known

phengsErssTear Goas HMID &LLMNLE soalsstar o faioé b, 2019
g‘ﬁ)gﬂw SipFlwaeannder apg < satndfeflar oig e e QuppLGubng

(A) s rn9fey 45 (B) s Lrn9fley 30(1)

(O sLo9fey 51 ' . (D) sLu9fey 21(A)

(E) &l Gsfluaidena -

44. Rashtriya Madhyamik Siksha Abhiyan (RMSA) scheme was launched in

(A) May, 2010 (B) April, 2009
(C) July, 2009 (DWATarch, 2009
(E) Answer not known . '

Caslu Qe flavaws sweils Hirid (RMSA) Ggm st g
(A) Guw, 2010 (B) guige, 2009
(C) g5%wwe, 2009 (D) wnirg, 2009
(B) ol Qsfluaaome :

DEOMIV/23 . 24 | B



45. RMSA Scheme was aimed at achieving universal retention by the year

(A) 2018 (B) 2022

(C) 2025 (DY2020

(E) Answer not known .

RMSA feiib ——— QpemgHSen o _qsarreiiul g,éas;mammﬁ SIS
Crrésinrss CeTam@arerg). : ;

(A) 2018 ; (B) 2022

(C) 2025 (D) 2020

(E) eler Gzflweticrendd

46. This philosophical ideology is linked to utilitarian values, problem

solving, instrumentalism and consequentialism. :

(A) Existentialism (B) Realism

(C) Idealism ] ragmafism

(E) Answer not known
bs s5g6! EHTHSLD o QWIS Lozeﬁu_l_]aseit, s SHTHge, smelioumsd HHID
aralleparaiaunsSgiL e QaeamssiLHdrargl. :

A) Bodsdud (B) wgriggeursid

(C) amsHud Cardias D) vweraTmas QETETMmS 5

(E) ofen Qzfueiidenc-

47. According to RTE (2009) Act what percentage of free seats are mandated
to be allotted for children belonging to weaker sections and
disadvantaged groups in a Government School?

A 25% ' (B) 50%
© 75% OyT00%
(E) Answer not known

RTE (2009) s igfemy, sl udefuled pedleuenbg 1Afedlemit wHHID
Qpu@ssrL L Gileas Geibs GLEDBHEHEES TS sseildly  @oais
QL hse gbslILL Cad@nBid ereLig) S muwrssiulHererg) ?

(A) 256% (B) 50%

C€) % (D) 100%

(E) eYen_ Gpflusicdenas

B A ’ 26 DEOMIV/23
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48. In the context of Piaget’s cognitive development theory, crystallisation of
personality development takes place during —— stage. |

(A) Pre-operational (B) Cgncrete operational .

(C) Sensory motor ' (DN Formal operational
(E) Answer not known

wrChuier eiflairbped auariess Garlum’ et el DL @EReID  GuaTr&Suferr
LigSwnrssd flapdemigu Blae

(A)  Qeugiss wiosu How (B) v@ueunmdr Qswuafma

©) yealuss faew D) pusesuoum Hlevew

(B) e 0sfucomae

49. ———— represents the level that are too difficult for children to master
alone but can be mastered with assistance from adults,

(A) Assisted mastery level
(B}/Zone of proximal development
(C) Developmental challenges point
(D) Adaptive behaviours
(E) Answer not known
Spbmgser gafluns Qeudsmer Qe GuopOlandr @6 umps
Slqanons a.auraigid, dufiwerseiar 2 5e9CGurE Cuoplsrdrmsuta Garedl Blee
Qupdsnipw QewidLrfsamends D58 ng.
(A) osefl Gaires Hlavey
B) ApErdw euerisd wear_ab
(O ouamisfl seundvsar Lyeraf)
(D)  ssemoriy BLSmaHar
(B) &ler OsRuiefdrena
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50.

b1,

percentage of Gross Enrolment (GER) for classes IX-X within

5 years by providing secondary schools, was aimed to be achieved under
the RMSA scheme.

(AWT5% it . (B) 65%
©) 85% D) 90%

(E) Answer not known

@eLHleer umaﬂamm-m@r&@mgm apeld 5 sparhsEns@ar IX-X m@{lqasmﬂcb

Gorssl ugsel Afssdamear (GER) sgeidlgy RMSA S sdler &ip
aLeabge Qas@ HiramilssiiulLg:.

Q) 5% B) 65%

©) 85% (D) 90%

(E) ol Qzfwsideand

Which one among the following is less teacher intensive learning
system? o '

(A) Formal Learning System (FLS)
(B) Regular Learning System (RLS)
(C)/(‘)pen Learning System (OLS)
(D) School Learning System (SSL)

(B Answer not known

YerameuameupBled @Genpeurer <pflflwi C‘ég,a'nm- 2 LI SO PeND TH ?
(A) @pepurer sHPD D@L

B) aupsswran SHH® enoOLIL]

C) Sobs spped ey

®) I_IG'lTGiﬂ- SHHO HENLOLIL]

(B) oo Gsflwefidoena
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52. Right to Information Act 2005 includes the right to inspect;
@ Work | '
(1) Document /
(111) Records
&) @ only (B) (1) and (ii) only
(CY(i), (11) and (iii) (D) (i) and (11i) only
(E) Answer not known

saaud Py o Mews s ib 20056 Spsarapile aemaismer opiia) Qsiiub
2 Mensamer o ararLsdlwig) ?

1) Geume

(i) <yeuewid

(iil) ufeyser

@ @) wpw (B) @ whmis (ii) L@
© @, (D) wppw (i) M) (i) wpgid (1) wr Gud
(E) oL Gsflueldame

53. Hilda Taba describes the ‘Curriculum’, which is
(A) Classified concepts (BY Plan for learning

(C) Content organization (D) Educational notes
(E) Answer not known

afleoLr Lrur eflauflas a;mmg@LLmnsﬁgj

(A) auesuBSsULLL BHES (B) sppaysarer S b
(C) edrer_ss @mmudaariy D) soed duysear

(E) e Qsflweldeme
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54. Choose the right matches among the following :

1. Hierarchy of needs theory — Maslow

9. Concept of montal age : —  C.G. Jung

3. « Extrovert and Introvert Personality — Alfred Binet
4. Theory of cognitive development — dJean Piaget
(A) 2 and 3 are correct (BY 1 and 4 are correct
(C) 3 and 4 are correct (D) 1 and 2 are correct

(E) Answer not known

Genaimesareubdler sflwimer Gyrigseer GHIHESEESD.

1. Cgeoausefler Ligbla® Gamrumh P _-u)rrﬂ'uGé)rr
e UL SHSSI | = C.G.
3. osWs LHDI UDEPS 2y, (@enLousl et
< ST — ol GGer
4. efanppsd eerisd Cariurb — g8 19winGey
(A) 2 wppib 3 sflwreg B) 1 wpmubd 4 sfuirerg
(©) 3 wpmb 4 sflunerg D) 1 opgd 2 shlwirers

(E) oflen Qpflwisiiéensd

55. The largest reservoir of carbon on Earth is
(A) Living Biota (B) Decaying organic matter
(C)/ﬁeep ocean (D) Atmosphere

(E) Answer not known

i udld o erer 1l Quiflw e Qsreraftibd

(A)  eurgpd e viflend _ (B) =iap@d sl Gumwar
(€) .gg,%g@rraﬂ &L D) auefipe b

(E) ofeL Agfiucioeme

B 29 ' DEOMIV/23
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56. Arrange the following events in chronological order.

1. The RTE Act came into force.

2. National curriculum frame work for school education formulated.
‘

3. Sarva Shiksha Abhiyan (SSA) launched.

4. Saakshar Bharat (Literate India) Programme launched
A 2,3, 4,1 (B) 4,3,2,1

© 1,342 OV5 2,41
(E) Answer not known

Qareusid Hlabeysaa sreelflengLig. aflesiu@ssay.

L. RTE e iib spogiss éuﬁg,gj.

2. ueref sdefssrer Gasflw Lm A Lib 2 (FeUMEsLIL L g.
3. streufléagr &@mrrdsr@g,m_rma;uur_l_@.

4. ssegrt LTS S b Qg,rrl_rmésuuu_@.

@ 2,841 (B) 4,3,2,1

© 1,842 M) 3,2, 4,1

(B)  elerr OsflweTcrana

DEOMIV/23 30



57. Match the Philosophers correctly with their contribution to education:

(a) Theory of Negative Education
(b) Visvabharati
(c) Basic Education

(d) Integral Education

@ ® @© @

A) 2 1 3
®B) 1 2 4
<€ 3 1 2
ovf 1 2

. (E) Answer not known

W o W e

1.

2
3.
4

Rabindranath Tagore
M.K. Gandhi

Aurobindo

Rousseau

sodssrar uhiselIGLTH gggm@n@sﬂamm slunsl QUIHSSIBISET

(a) efioaps soels Camum®
) eNeveunimys
(€) =5mIsE so6l

d) gocnioanss so6

@ ® ©© O

I e RS (|
@2 A 8
(@ s T2
(D)FAS ol 23 S

(E) oo Qgfluciicrens

B 31

1.
2.
3.
— 4.

rSpHoBNS STET
M.K. ampé
SAAEGCsT

epGam

" DEOMIV/23
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98. Match correctly the instinct with their corresponding emotions:

(&) Flight 1
(b) Repulsion )
(c) Appeal 3L
(d) Acquisition 4

@ ® © @
A 4 3 1
B 1 2 3
V5 4 1
M 2 3 4

(E) Answer not known

2
4
2
of

Distress
Feeling of ownership
Fear

Disgust

2 dT@hanTienay jeum i smer 2_awTT&&la@s 6w efwraL ANLIGEE T

(a) su9sse
(b) adigge
(© CGuogpanlipss

(d) @swsiLGssD

@ ® © @

A4 4 3 1 2
B 1 2 3 4
© 38 4 1 2
@2 3 4 1

(E) el Qafuwefdena

DEOMIV/23

1. genb
2. o fepw 2 emrivay
3. uwb

4. Qeugriy
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59.

Match correctly
(a) Morons
(b) Average
(¢) Genius

(d) Superior

(@ @
@A 2 4
@5 1
(C) 4 2
O 1 2

(©
S |

2
1
3

the class of children with their range of 1Q’s:

1. 99-109.9
9. 140 and above
3. 40-59.9
4 110 —-119.9
(d)

3

4

3

4

(E) Answer not known

@ppossaiar s

(a) Gumymes

(b) eyred

(c) Cwes
(d) Bsdper

@ ®
A) 2
® 3 1
€) 4
®) 1

©

1
2
1
3

gL Gfeysear 1Q wigiueLuid sfluns QuTmHSSULD

1. 99-109.9

9. 140 wpmid Guod
3. 40-59.9
4 110-119.9
GV
ig
4
3
4

(B) e Qgfiueidame
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60. Which are the following statements are true about characteristics of
formal education?

(1) Education imparted through well planned means or formal lesson
(i) Education associated with degree or certificate

(iii) No fixed curricu_lum, methods of teaching |
(A) (@) only (B) (i) and (iii) only
©W?T) and (i) only (D) (i) and (iii) only

(E) Answer not known

Sl6iren (56w areu i Pearpuirer shoalar Hprndwedyseiar TG 2 &eLn 7
Q) pere g,]:;L_L&Quuﬁ_t_ apuils sp@ssiLGEns

(1)  uiLnb sdag srenHlgupL et Qsm_irgemw sdael

(i) spAssaien Haewmar umﬁh‘.@h Bdme

@) O oo B) @) o (idi) wr Guw
(C) (@) whmp (i) T (D) (D) wpous (i) LOL_(Bith
(B) e Gsfuefavma

61. Which principles constitute Buddhism’s greatest ideals?
(AWBody, Mind, Spirit
(B) Body, Mind, Character
(C) Character, Culture, Mind
(D) Mind, Spirit, Culture
(E) Answer not known
QueTsssAar erpss Carun@ser Emba Qe reTanssarm@ib ?
(A) o1, wamb, DY, GHTLOT
(B) 216, LGLD, @emTiD
©) GERID, LU@TLUT®), wemb
(D) wemnd, yemon, LI6ioTLIT ()
(B) oo Qsfucfdama
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62.

63.

Which commission made the initial assertion that “The job promotions
should be purely made on the basis of merit”?

(A) NEP 2020 :

(B)\/ﬁr. Radhakrishnan’s Commission 1948
(C) A.L. Mudhaliar Commission 1952

(D) NEP 1986

(E) Answer not known

aphs  geeub/Glw used swiesdr ppdlgid s@ESuGen Siig UL
QebwiLL. Ceauar@b ereg wWseded auediumisHuig ? '

Q) udu ses Qararms 2020

(B) Dr. prgréfigeigemen @p 1948

(©) AL gpsdwunt @y 1952

D) ydws swels Cardrenas 1986

(B) e&flen Qaflwsilédena

A scheme known as ‘Integrated Education for the disabled children’
(IEDC), which aims to provide educational opportunities to not so abled
children was launched in the year?

(A 1970 (B)(%L
©C) 1972 : D) 1975
(E) Answer not known

wrpnsHnermel  GLHMESEEEE so6l amiiysmer apBGa®s CETEsLIsS

Qarer ‘wrppsdnemed @GpossaErsata ehdmaps sol aam SlLib
oThE emgd Gsm msliulL g ?

(A) 1970 (B) 1974
C) 1972 (D) 1975
() <flen Qeflweiidane

35 7% : DEOMIV/23
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64. Which among the following is the primary objective of Env1ronmental
Education?

(A) Population control (B) Pollution control

(C)/Better life and Environment (D) Deforestation
(E) Answer not known

1Nerau(meuameadbled shHmi@Lpd sdafuden woerend CErésd 6rg)?
(A) wssalgrems s.Hrur@ (B) s sC@riur@
(C) fpps aumpsens wHmb Gs (D) smfuy

() e Gsfueldeme V

65. Which is/are the objectives of education mentmned in National Policy on
Education (1986)?

(1) Promoting Freedom, Equality and Self-reliance.

(1) Strengthening social and National integration.

(i11) Developing national unity and spirit of excellence.
(A) () only ‘ (B) (i11) only
(COW”(1) and (iii) only (D) (i1) and @ii) only
(E) Answer not known

Caélws swells Gemarers (1986) W @AuGL iU Gdrar smelssrar Cprésb
GTEITEoT ?

(1)  sgpdnd, swsgeud wHpb saranbismsmu casEedssH
(1) seps wHmb Csdu pErimamiou LRSS

(i) Csdu gppe@w WHHID HPLILINGT WETILTETEILDEM L GIETILILIE]
(4) @) v Ewn (B) (iil) vL@b

(©C) () wppd (111) LLEL (D) (1) woHmib (i) v Gub
(E) &ler Qsfuaideama

66. Which among the following is the important maxim for the readiness to
learn?

(A) From problem to solution (B)¥Simple to complex

(C) Formula to problem (D) Difficult to easy
(E) Answer not known

HlereupeuamaupBledr spmed swnt Blevadsrar wpsdluiorar Carlun® erg ?
A)  Yrssemer @ (mig Siey (B) eeflewlampg Heae
(C) @sdrsddmpg Grseaman D) sqansHambe eraflanio
(BE) e&flle Gsfwueladame .
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- g7. Assertion [A]: Evaluation is the process of determining the value of

68.

a thing or process, based on the assessment of ifs
different aspects/components by employing
observation, measurement and tests.

Reason [R] : Evaluation includes the process of ‘assessment’ and
the tools and method of ‘measurements’.

(A) [A]1s true but [R] is false

B oth [A] and [R] are true and [R] is the correct explanation of [A]

(C) [A]is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known ;

2 pAUILIGSHS® [A]: wdusSE edLE @O QUFEHET <ADOS! Qewidapeppudiar
witien  BiamisGn QELIdWEDLITED, @3 B
QeucuGaim SIDFBSET/SnNBEMET nSrSH Qeliauser Lpaid

samsTeRiliLy, Sarai_( oo Cangenensener
LLETLIHSSIQISEN ApLD SiorelssLLESADS!-

 gmyenrid [R] : oA igd ‘HNISE Qeudap@D LHDIL ‘srarei@safien

FHmadEer HHILD (pEDSET LI SILBIGLD
(A) [A] 2 amenio, pamTd [R] seupreng

B) [A] wopmbd [R] @reor@d = @rento lD,r_i)Qij [R] ereruig [A] @er sfwmen
eQleTSHID HpGLD : :

(C) [A] saum, [R] o @GO :
D) [A] wpgnd [R] @renGib 2 @wen wHpd [R] arerug [A] @en sRwren

QeTEHD AW
(E) oo Opfluciicren

The systematic study of logic seems to have been undertaken first by A
(AW Aristotle ®) Plato

(C) Augustine (D) St. Thomas Aquinas

(E) Answer not known ;

BisssHean (papuiret ey Apsedd Cup@sranl_sn&Es QsM& D!
(A) siflevLmged _ B) Germ GLr .
(C) isevigan (D) St. moev Sibiperad
(E) dflen QRweflcrena
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B3,

70.

Choose the right Match :

A)
1. CCES
2. PB2
3. GPA
- 4. CGP
(Ayrand 4 are correct

(C) 4 and 2 are correct
(E) Answer not known

(B)
Continuous and comprehensive
Evaluation system

Program-based learning
Good point average
Cumulative Grade points

(B) 2 and 1 are correct
(D) 3 and 1 are correct

gilwimer Qurmsssms Coiray Qetiweyd

(A)
1. CCES
2. PB2
3. GPA
4. CGP

(A) 1 wihgd 4 sAwrerapey
C) 4 wHmib 2 sfwurareney
(B) oferL Gsfuefdene

Socrates was a

A) oral relativist
(©) Rationalist

(E) Answer not known,

EFNSTIe 6l GraUGwT (I
(A)  sribs Fnmiuedeurs)

©)  uesshajaung
(E) e Qsfuefdma

DEOMIV/23

(B)
Agreirsfunar whHmib effeumar
AT G (wpenm
AL @i L erer &hne
Bebey Ljermertl epmram
LOCLES 57 Letellser
B) 2 wpmib 1 sMwrereney
D) 3 whgb 1 sMwrarea

(B) Conventionalist |
(D) Naturalist

tB) Ly el
(D) Qupeseurs)
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Tl

Match the following :

(2)
(b)

(©

(d)

Displaying warmth and enthusiasm 1. Presentation skill

Clarifying pupil ideas
Diagnosing difficulties
Displaying awareness of Pupil

behaviour

@ ® © @

NS S e
BV e

(552 it s

D)oatv 2 ha 1

(E) Answer not known
Qunsgs :

(a) oyl HMD e HETESDS

(b)

()
(d)

QeuaflILpHiEH

srenreuiigetien LG raamasener
QzaflajiuB sz

SywiiEmer s Dieao
lorawreuisafiar BLamsLl LbHius

eI jaRTienEU SiTILeD

@ OG0 © O

(A) =]t ]

© 2 3 4

4

B) 3 1 4 2
1

4

») 3 2 1
(B) oflewr Qgfleidama

39

2. Classroom Management
3. Motivational skill

4. Assessmént skill

Nersasssn_ 8 Hper

agruep Guoameranio

“augiapl- b Smer
4, wHLAED Hper
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72. Match correctly the following statements with their corresponding

terminology :

(8 Determining value of a process 1. Test

(b) Set of rules for scoring 2. Measurement
(c) Method employed in assessment 3. Evaluation
(d) 4. Rubric

(A)
(B)
(©
D)
(E)

Set of sequentially arranged

questions

@ ® © @

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

g : S 2 THE EXPERT COMMITTEE FOR FINAL DECISION
i 3 2 4
2 4 I -3
4 3 1 2

Answer not known

\Dereu(Bd snhmIsmeT @b e CgmfyenLw Qerpseni_er sfwrs CUmmESSayLb.

(a)
(b)
(©)
(d)

4
(B)
(©)
(D)

()

@ Gewdapempular wériemL Storafigsd 1.  Cergear
flGuarserssrar elflselar Qgregry 2. e (HEET

ST g0 LLETLRSSID (e 3. wAuiE
auflesuns wmwossiiuc._ Cadaredaaien 4. epunGfs
Qgme@Ly

@ ® © @

4 1 3 )
1 3 2 4
2 4 1 3
4 3 1 2

aflen QgRwefeene
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73. Which of the following articles are the constitutional provisions related

to ‘right to equality’?
(2): Article 14
(ii) Arﬁcle 17
(iil)- Article 43
&) @@ only

- (B) (D) only
W0 and (ii) only

(D) (i) and (ii1) only

(E) Answer not known

Qeraumid HL-HEnTHEET singgicusHpsrer e Mepwo GpmfLimer Sipdlwue

SLD.

() yiigssar - 14

(i) <yingsdler - 17

(iil) <opingsdler - 43

) (@) wfw

B) (i) v

(C) @ wppd (1) LED
D) (i) wppid ({l) wiGid

(E) ofenL Qpfweiicaned

B . 41 .

eoLoLiL ehlglaer

DEOMIV/23
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74.  Which of the following is Incorrectly paired?

1. NIPCCD —  National Institute of public cooperation and
child development

2. CSWB —  Centre for social women board

3. WCP —  Women’s compenent plan

4. RMK —  Rashtriya Mahila Kendralaya

(A) 1and 3 ( and 4

(C) 2and 3 (D) 3 and 4

(E) Answer not known

Qéreupevareup Hd ergr seupms BevanmsaiiLr Gereng) 2

1. NIPCCD - Gadlu Quig gsgiepr HMID @& PHengaser
- Cubumn’ @ fgeans

2. CSWB - &gps waallit eumflu evwowib

3. WCP - Quarsdr sagy A _ib

4. RMK - ey flu wdlarr Cepdyrawn

(A 1 womb 8 (B) 2 whgib 4

©) 2 wpyw 3 (D) 3 wpmv 4

(E) oo QzMuchdena

75.  Universal Declaration of Human Rights adopted by UN General
assembly contains :

(A) 20 Articles - (B) 22 Articles

(CW”80 Articles (D) 36 Articles
(E) Answer not known

el prsafier Qurms seuwmd Fop&ECardraTiLCL wafls o Aamiwsdr b Hw
2 esarmedliu 19 ysL_emib Carar@erarg.

A) 20 st Qevgsar (B) 22 s _@eoysar

(C) 30 ar_peysar D) 36 s Qerser

() Ao Gsfueioma - '
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76. Match the associated action verbs:

(a) Knowledge
(b) Comprehensive
(c) Applicat'ion

(d) Evaluation

@ O ©
(A)ElA G2 aeeed

(B}A 1 4

(@ ateisiaiet a2
®3 4 1

(E) Answer not known

(@)

4
2
1
2

1. TDlustrate
2. Criticise
3. Measure
4. Predict

Qsm_irLjeni it GlFued Gﬁmméﬁanﬁamm QUrBSSIS *

(a) <ibis®

(b) ufige

(cj' LwaTLIHSSD
(d) wHGL &
@ (e
(e ei 28
® 3- 1 4
) 4 3 2
@) 3 4]

(E) ofler Qsfluaidame

1
2
3.
4
@

4
2
1
2

2 grEHEIL o CHoTEGS
oS5
_sieTeiL_6d

sentl&Eed

43
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77. Read the following passage and answer the item that follow -

‘If a student scores 67% in a maths test, it is not his final goal; it reveals
how far he is from the goal to achieve fully. This serves as g motivation

to take further efforts to improve his performance’,

Which of the following is begt implied in the above passage?

() Educational measurement are no definite zero measure

(BY Education, measures only the expressed traits or attributes
(Cﬁducational measurement is a means and not an end itself *

(D) In education, the attributes are not directly measured

(E) Answer not known

eiraumid ugHepuils Ligsg, Weiraumb 2 (BriLie @ LSaalssab :

‘2@ wremat saflss Coreld 67% wiloCuer Qubpred, s <2laurg o
Bose oid®; wpueLLrs e Cauatrqws Qasdempg wourt GTGLGLGTEY
smsdld Qumsdpri edrims CaefliupGsadng. Gs Sterg Geuddpeanes
CubL@ss Cugib awwuphHsamer THES R GraTHBOTS Gevdu@dng.”

Cule 2 drer LsH D Shebreu (16U @rew i e gl Spliuns SPOAL L Gareng) 2

&) sl werali@ erefmigl S eul L iomer ggg\m DHGTEY DD,

(B) s, Gavefli@ssin., GIRSET  Sdwg  Uarysmer e GG
Serall G fng).

(C) soel sierelE TG R UBPODLITGD, Sigi G @osans Bmsang.
(D)  swelule, uarysamar Corigwins oyared Geudcrana.

() eSleni CQsMweldanen
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78. Which of the following statement(s) is/are true about inclusive
education?

(@) Inclusive education provides care and concern for differently abled
students.

(i) Inclusive education ensures social disintegration.

(iii) Inclusive education helps to remove inferiority complex.
(iv) Inclusive education provides peer group help in learning.
(Aj (1) and (iii) only

(B) (ii) and (i1i) only

V6 only

(D) (i) and (iv) only

(E) Answer not known

o GramL&dw soed LHH Geraumd FMmOHHS® crena O GHTENLOWITETENE ?

Q) eodrersflu sl ordpisHpeTTal  WIETUISEEES DAEHDD WHmID
LgroAtieau apEEGHDS! :

() o drersfu sl sepsL Seraysenar 2 nif GFLSADS

(iii) e erer &S sdel FThay ATILITETELOE®ULI 2EHD 2 FUEDG
(iv) &G'iTﬂTl_éieﬁu.; s@el spndld G 2-selamu aupRIGH DI

@) @) wppd (i) e G

® Gi) wppe (i) w6

(©) @ wiEwb

D) (i) wppid (V) LG

(E) oM Gpflusiicoane

3 ' 46 DEOMIV/23
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79. Who among the following stated that the subject matter of educational
Psychology revolves around three areas namely the learner, the learning
process and the learning situation?

(A) Garrison (B) G.G. Thomson

cwtLc. Lindgren (D) Kolesnik
(E) Answer not known

Sp&sam_curselier W, saed, 2 araflwellerr Qummer, sHmeur, EHPe Cswdapam
LHPID PO Ghflaa < du LGSaamers shi FPOE DG eremy Gl (HEHmmi 2
(A)  amlever B) B.69. smbger

©) as.4. aSlair_ Qe D) CarQasvefls

(B) oS Qsfucddena

80. Which of the following statement(s) is may be true by the end of
adolescence?

(i) The young women are higher and heavier than the young men.
(i) - The young women are weaker than the young men.

(i) The young men are higher and heavier than the young women.

WWVGii) only (B) (ii) and (iii) only
(©) @) and (iii) only ®) @) only

(E) Answer not known

SLDT LI(Th6uSH) ebr @lq.@ﬂﬂ) Klareu(pid snhmisaie TSl 2 ETEHLDILITE @) (B ESLD 2.

1) Qe Querser Qeergismar 6N o wipbTaTeFEeT bpmd  Hep
iEFIDTaTeU TS ET. '

(i) @emd Guarsar Gevereriamar el LiaveSaromaney fEar.

(i) Geerenisar, @end  Queamserer el 2 uigoraTeyadr whmid  Hlem

Sigl & Teneuitser
(A)  Gil) vrEn (B) (i) wpmo (i) we @i
©) @) wopgd (i) wr g D) () wrEw

(B) ofeoL Osfuedoame
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81. Match the event with the year :

(a) Sarva Shiksha Abhiyan was 1. 1988
_started on
(b) The word Securalism was added % 20002
to the constitution on
(c) National Literacy Mission was 3. 1992
started on

(d) Article 45 of the Indian Constitution - 4. 1976
was amended on

@ ® © @
A 2 ] 1
®B 1 3 2 4
O A 153
D) 4 2 1 3
(E) Answer not known

Blsipenal GuHLSSIL-6 QurgpSsed
(2) sraudsgm onurer QM msiuCL e 1. 1988

(b) wsssTINETE®LD TETD QUNTESS

srflweanndo Geissinl L peTh 2. 2002
©) Csdlw erpssila) QuEsLD

Qs L e 3.- 1992
(@) @pHu efluemvlifer 45ai5) 4. 1976

Afley H@EsILLL BHTH '

@ ® © O

A 2 4 3 1
@ 1 3 2 4
(C) 2 4 1 3
DAy eg Eoalios
() sl Qzflueidame
B 47 DEOMIV/23
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82. Which of the followin is incorrectly paired?

1.  Albert Bandura - Classical conditibning

2. B.F. Skinner —  Operant conditioning

3. E.L. Thorndike —  Theory of trial and error

4. Clark L. Hull —  Theory of learning by insight
(A) 2 and 3 : B 1and2
(C¥1and 4 (D) 4and 8

(E) Answer not known

Qemeumeiaraibiled erg) BeUPIS GevandsliLL Hereng 7

L ypeufl usr@yr - @iy fealu@ssd

2. Qe evdaren —  Qewaum @ feeuu@ssda

3. .67, G miten s - Gsmgenar wihmid Slenpuler CamLir@
4. famis ered. aped - Bewewhlel epad spma Gam'_urr(i,j
(A) 2 wpgib 3 B) 1 wopb 2

C) 1 wpymd 4 | (D) 4 wpmib 3

(BE) e Qsfucddame
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83.

Match correctly the committee with their corresponding year :

(a)

()

()

(d)

A
(B)
(©)

Committee on the status
of women
Committee for girls education and

public co-operation

The Trigunsen Committee

(a)

1
2

(D) 4

(E) Answer not known

®)
4

2
3
2

(c)

1
3
4
1

(d)

2
4
1
3

Committee on Women’s Education

1. 1957 —-59

2. 196567

3. 1971-74
4. 1963 — 65

Gpeder GLwegyb el e Qs pearen wb sfluns Qurmssen

(a)
(b)

(©
(d

A)
(B)
(€)
D)
(E)

Queansafldr flaned LHHiL G
Queir saw6l wHmb Gurg)

RESS@PLILIGSTET &)
Quer soealssrar Gup

Sifl@emllaer @up

@ o @© @
3 4 1 P
e ol 3 4
2 3 4 1
4 2 1 3

aﬂmg_ Qsflweldena

49

1. 1957-589
2. 1965-67
3. 1971-74

4. 1963-65
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84. Every year, National Environment Month is observed from?
(A) May 15 to June 16
(B) March 23 to April 22
(C) August 15 to September 14
(D)/I\Tovember 19 to December 18
(E) Answer not known
gaibeaurm b, GCsflw  sppsgpd  wrgbd  abs  CsHuld  @mbal
- sl Ny sstinbhdng ? :
(A) G 15 gpsd grer 16
(B) wmi& 23 s gurd 22
(C) <ysevl. 15 wged Qelbui 14
D)  peubur 19 g webUT 18
() e Qsflueideame

85. Which among the following is labelled as ‘Pragmatist Philosopher™?
(A) Aristotle E
(B) Socrates
(C) Russell
(D)V:fohn Dewey

(E) Answer not known

emeu(@euaTeuHmIGT Wt ‘HenL(penn SSgiaieurd’ eranr QuuM Ll Gieremmi?

(A)  fevmiige

(B) snémgen
(C) npeweved
D) gren Gud

(B) oflea Ggflwsciicvans
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86. Which of the following statements are true about Rabindranath Tagore’s
Philosophy?

Rl Gt SEO Ny

(A)

Spiritual unity of man as the philosophy of life
Teacher as the lamp

Self-supporting education

The spirit of citizenship

3 and 4 are correct

(B)/i and 2 are correct

(C)
@®)
()

1 and 38 are correct
9 and 4 are correct

Answer not known

AreipSrprs sremflar sHgaumsdr upHlu Gemeumd smppsaid  aamaibluiama
sflwreienay ?

1.
2
3.
4

(&Y
(B)
©
D)
(E)

walzaiear gemnds gomenCu cumpeiler s&gH6ILb
< Afwit elenssrs G)msSse
HUW Y510y S0l :
&g W flanol] usﬁarurr;bpab
3, 4 yflwer &ﬂurr%o*rmm
1, 2 gfluer sflureareaney
1, 3 g flwer sflwnearene
2, 4 s fwer sflumenene

aftenr. GzMlweievened

51 DEOMIV/23
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87. Choose the right matches among type :

1.. Inductive thinking — Specific events to general principles

2. Deductive thinking — Abstract, General principles to specific

hypothesis
3. Reflective thinking — Aftract one particular member
4. Creative thinking — Only for large number of ideas
(A)/land 2 are correct (B) 2 and 3 are correct
(C) 8 and 4 are correct (D) 1 and 4 are correct

(E) Answer not known

Filwimesr G]urr@g,g,rﬁasmﬁg GCams®&s :

1. grewm_é Apsener —  @iudL flspeseilaSiphg Qurgerear
Qarerensaar.

2. ugssmie Apsmar —  SmHS LHDD QuTgeuTan Garun iy emhs)
GO L sMmssEsaET.

3. Qrdudiy fpseer —  GALALL 2 grilent greiey FiTgseD

4, &5 é](rbg,é)@ﬁ —  <ifls aaneaflismsulione smsssEssE LEHID.

(A) 1, 2 ydwar sfwnerapeu B) 2, 3 yhwer sAwrae

(C) 3, 4 gyfwar sfluirarenas D) 1, 4 s fwer sAumatae

(E) e Qpflweiedrenc

DEOMIV/23 52



88.

Choose the right matches :

Educational Thinkers

‘1. Swami Dayanand —

2. Swami Vivekananda —
3. Sri Aurobindo —

4. Mahatma Gandhi —

(A)‘él'd 2 are correct

(C) 2 and 4 are correct

(E) Answer not known

sflurer Qeaemenws GCairay Qs :

sl HHFenaTUINeTISET
1. swrerhg s&eumsl -
2. ;r.&surruS] GS\GQJSI'I'GGT{-}')‘;{)!’T -
3. b selpsi -
4. wsrsoT STH -
A) 1, 2 gpduer sflurerenal
©) 2, 4 g fuer sflurerenau

(E) e GzfMueiicrens

Thoughts

Back to vedas
Harmony and p_eace
Basic education
Life divine
(B) 1 and 3 are correct

(D) 3 and 4 are correct

Absenansar
Coughis@né@s SGwLsD
pebedlemrdsid ohHmid e;qsmmg
DLETTSE Hevell
Gsuieis aumpsams

(B) 1,3 sfwer sfluraieamey

D) 3,4 mfwuar sflureareme

53 DEOMIV/23
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89. Which of the following are the educational ideas and practices
-propounded by Pestallozzi?

(1) Direct method of aquiring knowledge
(11) The necessity of vocational education
(111) Man’s knowledge 1s not founded on sense impression
(iv) Children express their natural drives through learning
(A‘/(i) and (i1) only
(B) (@) and (ii1) only
(C©) (@) and (iv) only
(D) (i) and (iv) only
Answer not known

(E)

Wenmeupauameuppiet  ereneuGdemd QuavLrCGeoreallenr saeils HApsanar LOHHID
BN (LPENDSHET DhESHLD ? ‘

).

(i)
(i)
(i)
(4)

(B)
(C)
(D)

E)

 Gprg popuiledr Siflay QupeD

Qgmfpadailuder eufluib

wellgeier sifle| Lo o amrreflen gLl ulld enwwueldena
(GPHESEHET FHISET GuICLITeT Gla;-u_lsi)a;mméa sHo apad GeueliLEgFe0
@), (i) dwer L@

(1), (11) Qs,és‘lu_lemm (b

@), (iv) @even W Hib

(11), (iv) wLEw

efler_ QsMNweciicency
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90. Assertion [A]: Know Thyself.

Reason [R] : Knowledge is wvirtue. Knowledge can be achieved
through knowing oneself.
(A) JA] is true but [R] is false

(B)Aoth [Al and [R] are true and [R] is the correct explanation of [A]

©
)

B

[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
#
of [A]

Answer not known

gaflajenr [A] : 2 arenat B oiflaumis.

smés fpeg [R] 1 ofley  ereiugl <oipd @b, saoar  oflaiger  apeid

(A)

B)

(©)
D)

) -

sdleiremans GLpamid.
[A] Quirurang), gemea [R] Senpuirang:.

[A]l, [R] @oa: @re@GL Guurars. @igster [R] aeug [A] Ger

sflwren eNeTSsD L&D,
[A] Qenpwirang, [R] Quodnumeng.

[Al, [R] @oa @reanGGo Guiwrarmes, <pemd [R] edmg [A] Eeir

Filwrer e eTESEb 0.

e Cgflweiidene

55 ; DEOMIV/23
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91. Assertion[A]: A philosophy of education should consider the

conflicting notions of life and education.

Reason [R] : Philosophy formulates what should be the end of life

(A)

while education offers suggestions how this end is to

be achieved. -

[A] is true but [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation of [A]

©

[A] is false, [R] is true

(D)\éoth [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E). Answer not known

giaflayenry [A] govell LHPL wrpsms upPlu  SHESHGsMEr  Hoelufen

S(H&S

A

- (B)

©
M)

(B

DEOMIV/23

BHgIeUD sy liLne sEsHad Camdrar Gauedbr(ib.

Apeng [R] : aumpellen @puey erananeuns @més Ceauamhid  aatumss
g5sieud uEsSDs. <Cs Crrsded <ips pyalener eréieumm
<enw Geuampid eramieng a6l Lfikgenrssng:.

[A] Guouiwrerg, g ema [R] Qapurerg.

[A], [R] @ren@CGw Quuiurarma. iggiLer [R] eramug [A] Qer sflwrar
ellendaib < ib.

[A] Qevpuwreng, [R] Quiiwreng.

[A], [R] @ran®Cw GQuinareeme, egeamd [R] erarug [A] @er sflwmrear
ellen&aED ida.

aflent QgMwaiicdena

56 | B



92. Which one of the following are correctly paired?

1. Synoptics — Iinaginary and formless description
2. Symbolics — . Representational imégefy

3. Empirics - Rely on observation and experiment
4, Synndetics — Random view of culture

(A) 1 and 3 are correct : (B) 1 and 2 are correct
(CW” 2 and 3 are correct (D) 3 and 4 are correct

(E) .Answer not known

QemaymeaiaraubmIeT ereney Filwuns @enemssliLIL(HeTerg) ?

1.  SHemmingsev —  shuenensT LHMILD 2 (HeuDHD edenssh

2.  Sbumredsev — o madliy wassTS

3. GI'Lchﬂlﬂn'.-';BGfl)A — 2 hpCrrésd WHMID ufCsrsenenenwl
e AohE A

4, HeanCGearrmydev —  sonssmb WBgrer FHpUTERe.

(A) 1 wppd 3 slwrereney ®) 1 wpmd 2 sflwraresu

(C) 2 wpmpbd 3 sflwrerency @) 3 wpmb 4 swnereeu

(E) oHeor Osfluefdeane

B.rse : 57 DEOMIV/23
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93. Which of the following is more generally acceptable by modern
educationists? '

(1) There should be one single aim of education unchangeable over time
and space.

(i1) Contribution to the welfare of the society should be the only aim of
education.

(iii) Education is bound to have several aim since its concerns are
several such as the individual, the society, the family, the nation

and so on.
(A) (i) and (iii) only (B) @) only
(C) (i) and (ii) only (Mm) only
(E) Answer not known
196w (meu areu bl ed T Baien S TeTTHEITTE Qurgieurs
gHm&Qarereriu@GEmg 2

W) srosfland QLsSgn wiprs gGr e GREGsTE sodss @mss
Gaueir(p b,

() swpsrusdear poassrar LksalICL  smaller 2Cr Gpréswns @ més
Ceuar(pib.

(1) gafipur, sapsb, GELUL, Cssd Guray Lo ol wLkismars I T(ETHLD
sdelurarg Lo Crréstismears Qsrerr_grs Bmses Geuampib.

&) @) wogid (i) o Ew (B) () wr o

©) @ wpgid (i) wr G (D) (iii) oL @w

(E) oL Gsfweldme
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94. From the below statement, which is not Naturalism’s aim of Education?

(i) FEducation is the notion of man’s evolution from lower forms of life

(1) To equip the individual or the nation for the struggle for existence so

as to ensure survival
(iil) To inculcate ethical énd moral Valﬁes in the pupils
&) () only (B) (ii) only
(CWii1) only ' (@) () and (i) only
(E) Answer not known
§Cpu et ifismalamhs sodfidr Gupmaaingid CETESD piaida ?
1) soel eetug @')GD‘E)‘[B.Q'; o Waserer 2 WAamsela\mhs weallgar Liflamow
oL pEBHSTET BG5S

(i & pumy  SO® Cessams o8 eumbeuspsrar  GurrTLLSEH
5 L3 &l SESOS LaISD 550G

g,u&ﬁu@gﬁ, 2 1Qir aumpeuens 2. mifl Qeliaig.
(iii) wreTarsEEEE @ar WP STTSE WHILEmET sardEeilEHM.
@) ) o 6w ~ ® 6 econ
(©) (iii) wrEw® D) (@) wpgd (i) wrEb

(E) &fenL Qsfiwefdame

B : 59 DEOMIV/23
: [Turn over



95. Assertion [A]:  Continuous and comprehensive evaluation in School

Education was started by CBSE.

Reason [R] : It was introduced by CBSE to provide a more
comprehensive and holistic approach to assessing

student’s skill and understanding.
(A) [A] is true but [R] is false
(BWoth [A] and [R] are true and [R] is the correct explanation of [A]
(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explan‘ation of
[A] '

(E) Answer not known
adlyngsd [A] 1 udrels soeflufia Qsrirédwiren wpmib efifleurar wAHIS e
Slerav@) Gsm_rudwg.

smyeord [R] 1 wremairsefier Spenw wppid uflgae wANIG Celaushs @b
aflfleurar wHRID ApperLLTET SigmIEmDaL QLD GEUSHETE
@gl HAQerav) <y SN APSLILRSSILL L g

A)  [A] eemano, ama [R] seummans.

B [A] wppbd [R] Qram@wn o amew, Gugid [R] Grﬁmugj [A] @ér sflwren
ellarésmid oG,

©C) [A] saugy, @pamed [R] 2 airenio

D) [A] wpgw [R] Qrar®id e awenio, Gugb [R] cTeiTLIg) [A] @er eflwrer
ellemdsid Bdeme.

(E) &L Gsfueldma
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96. Which of the following is/are of the sources or form(s) of gender

discrimination?
() Nutrition, health and leisure
;(ii) Education, textbooks, curriculum and teaches
(i11). Family and parents
(A) (1) and (i) only
(B @ and (i only
(C/@, (i) and (ii1)
(D) Both (i) and (iii)

(E) Answer not known

\SemeureuareupBle Limellar LIm@GSUITL g6l DLSNTID(SET) DADOH! QUi GULD(GET) GTeney ?
(1) e &55g, ESTHID LHOID @I

(i) so&d, LTt Sssmiser, LSS LD whmb sAfwirser

(1) @ wbub whyd QubGpmi

@ 6 oppo @) ocen

B () wppo (i) e

© @, G wpgd (113)

D) (i) wpgo (i)

E) - e ALY

B 61 . DEOMIV/23
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97.  One of the following method is a relatively objective way of studying the

behavior
(A) Observation method (B) Survey method
(Cﬁxperimental method (D) Case — Study method

(E) Answer not known

Sleraumd  pepsaiid pam pLsmsmL e Qeieughsrer Uil ereld
LpSlenay eufluimgtb.

(&) 2 pplprsse wop - (B) sar ey gpeop
(©) ufiGsrsman apanp (D) safwrer eyiiey apenp
(E) " e Qsfieicrens

98. This Article of the constitution of India provides for equality before the
law or equal protection of the laws within the territory of India

(AW Article 14 (B) Article 22

(C) Article 80 (D) Article 90

(E) Answer not known

@iy srflueentlar Qis GNay s sHar apar FOGFGID g @hHu
TmasGdr UL higaler sowrer LTgsTimL apiiEHng.

(A) s 09fey 14 B) s 9fey 22

(©) s 9fa 80 D) &L cnGfay 90

(E) &fleor Qsfueldama

99. Which of the following factor does not directly concern Education

Management?
(A) Educational Objective (B) Planning process
(C) Budgeting (DMWCurriculum development

(E) Answer not known

Qdraumid smyefisailes ag Crryurss swel Hiaurssammst LpPluig 266 ?
(A) sve Crrésib - (B) cde

(C)  auney Qsaey HrLib (D) swasd i o (peunsasd

(E) e Qsfweldama
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100. Match correctly the Acts with their corresponding years :

(a) Equal Remuneration Act

() Dowry Prohibition Act

() Maternity Benefit (Amendmenf) Act
- (d) Criminal Law (Amendment) Act

(b)

(A)
(B)
(©)

(2)
4
2

4

'(Dafffi

(E) Answer nof known

3

1
2
1

(©

1
3

3

3

(d)

o T . S

1
2
3.
4

1961
2013

2017

1976

Kleraubid SLEISMET ASDES ‘Gg,rrl_r'rqmﬁu_l GU(BL_BIS (@6 Fflwimst Qun@ggjas:

(@)
(b)
(©)
(d)

A)
(B)
©)
@)
()

g0 sarflur sULID

UNEL FenesT Sl FULID

wsUGUM pedar HBSHE Sl D

Ghoeiliich 5L Spsss s L1b

(a)
4

2
4
4

alleni_ G flweldeane

(b)
3

1
2
1

©

L W W

(d)

I

63

1.

2
3.
4

1961
2013
2017
1976

DEOMIV/23
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101. Match correctly the system of education with their corresponding names:

(a) Dalton Plan il Baden Powell

(b) Quincy System 2 Rudolf Steiner

(¢) Scouting Training 3. Helen Parkhurst
4

(d) Waldorf Education Francis Parker

@ ® © @

@wy's 4 1 2
® 3 2 1 4
€4 ~. 8 .1 2
@3 1 2 4

(E) Answer not known

Qeraumn soell (perpsaer =gl Ogmfiyew soefurerisafler Guwrs@EhL e
ghluns GUTHESS

(a) Lréorem AL th GuL6m La|d

(BLITEL evleiemT

(b) Swerd gpaop

(¢) earpewrir LUADHA. Capeaer LNTEDTEVL

I U

(@) eurdl sl o Lipmendley Lniési

@ O © @,

(A 185, " 5 Tape
® 3 2 1 4
@ weutd: 4 s
M8 - @& &

(E) &ferr Gaflwueildens
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0 Assefti_on [A] : Flipped learning aims at having pupils complete

readings at home and work on live problem solving

during class time.

Reason [R] : Flipped learning is in line with the traditional method

(A)
B)

where teacher engagement of the student is

dominant.

[ EETaI5E Bl e

Both [A] and [R] are true and [R] is the correct explanatlon of [A]

(C)/f:&] 18 true but [R] is false

D)

[A] and [R] are true but [R] is not the correct explanation of [A]

(E) Answer not khown

S@iorend [A]l @ yriiows sppe ereg)  reveisdr 65 e

pEpewns Lglitgmear Grrésworss Qs reTHieTeTg| LD!_DQ]CD
aguuep Crrsdad Cprg Nésed Sissd Qewdu’igd seaiand

Uegusgiding.
anyentd [R] : lorasTeuisear Wemear o Afur e fssn Gegussid  umpbLfiu
' QPOD&EE ghu Yl UL’ L sHned HDLOhHGIETETS).
(&) [A] seuprar smpm, [R] shlunerg)

B) [A] wpmubd [R} @rerid arlf]u;lrrmg.j mfrj;guib [R] <yenag [A] eflparer sfiwimer
eflenésd

(C) [A] sfwner spg, [R] seuprang :

D) T[A] wpgd [R] silureng e [R] epang [A] efpsrar Slﬂl:lJiTQgT aflen&asid
Slebe)

() ofleoL Qpflueidama

65 . DEOMIV/23
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103. Choose the right matches among the schools of psychology corresponding
to the names of Psychologists :

1. Analytical Psychology — Alfred Adler

9. Humanistic Psychology — Carl Rogers

3. Individual Psychology - Carl Jung

4. Behavioural Psychology — J.B. Watson

(A) 1 and 4 are correct (B/2 and 4 are correct
(C) 3 and 4 are correct (D) 2 and 3 are correct

(E) Answer not known

Qamaugpd  eeatellud  ggeunsbarh SIS Ggriigepwt  e-atefiuemamia
Quintsear sfwurs AUIGESSS : : 4

1. u@humie) eereflue®  — QDU Zpaf

2. waligCpL 2 arefluied ~  gmired Gyrsien

8. safpur eereiluid — &N Wk

4, pLEos 2 aeliud - J.B. aunigair

(&) 1 wpgid 4 sflwirarenay (B) 2 wpyid 4 sllwrerene
(C) 3 wpmd 4 sRwremane D) 2 wpgd 3 silwmrerane

(E) oS Qgflwmelidens

104. Which Article has came into effect on 1st April 2010 along with Right of
children to free and compulsory educamyRTE) Act?

(A) Article 41-A . (BYArticle 21-A

(C) Article 45-B ' (D) Article 32-B
(E). Answer not known.

Qecus LHDIDL SLTWS sOHlESTaT (HLOHMSHET o fenné EQngjL_sBT eruged 1,
2010 (ps® pELP@PES eups UL LIGfle) g2

(A) s oGfley 41-A (B) e tndfley 21-A

(C) s Ldfley 45-B (D) srLrubfey 32-B

(E) ofleL Opfucicoaa '
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105. Match correctly the learning theories with their corresponding
Psychologists : _

B.F. Skinner

E.L. Thorndike

Ivan Pavlov
Kohler

(a) Classical Conditioning
(b) Insight learning

(c) Operant conditioning

gy, (9 LN Sk

(d) Trial and Error learning

@ ® @ @
(A) 3 2 1
(B)ﬂr 4 1
(O La O T
@)= 8x= -2 4

(E) Answer not known

= B DN

Geteuptd  spped  Camun@sear 21 QsmfyeLw s earefluerariseaen
GuwisGenn® sflurs QuTmsEs :

b

(a) @ss foelpsss Gasm U B.F. avélenani
(b) erasm fs shped _ 2. EBE.L. grieireni_é

© smeSlsmt g SsHleansss 3. Qauner ureiGarey
Garl_um(

(D) @pueny seufs snmod 4. Gsmeorr

@ ® © @
A) 3 2 1
® 3 4 1
©) 3 1 2
(D) 3 2 4
(E) oo Qsfweloana

=R N

B 67 DEOMIV/23
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106. Arrange the following in chronological order :
1. Yashpal Committee — Higher Education
9. Acharya Ramamurti Committeée
3. National Knowledge Commission
4. Sarva Shiksha Abhiyan
A) 2 1 4 3
BW2 4 3 1
© 2 3 4 il
D) 4 2 3 1
(E) Answer not known

Qenaipeiaraupen sre aiflemsliLig. auflasiu@sgs |

1. weisLnd @Gb - 2 wisoall ‘

2.  epFsTILT TIDAPTSS GW

3. GCzdu siflel yeamubd

4, st Heeer Sdunear (SimaraimHEGD so6ld L)
A 2 1 4 3

B 2 4 3 1
© 2 3 4 il
@ 4 2 8 1

(B) e Gsflueidame

107. Universal Declaration of Human Rights (UDHR) was adopted by the

UN General Assembly on
(A) 9t September 2001 (B) 2ud QOctober 1950
(C) 26th November 2006 (DY'10t: December 19438

(E) Answer not known

wefls 2 Aepnas@pssren o wsammaiiu GrsLemd (UDHR) g&8u pr@pseier Qurgs
FepLILNeD ghnisLsreTariul L 3,6

(A) 9 Gewwur 2001 B). 2 @&Cmuir 1950

(€©) 26 peubir 2006 (D) 10 abur 1948
(E) &l Qaflwaierenc
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108. Which of the following are correctly paired?

109.

1. 1948-49 — University Education Commission
2. 1954-56 - Secondary Education Commission
3. 1917-19 — Sadler Commission

4. 1968-70 —  Indian Education Commission

(A) 1 and 4 are correct (B) 2 and 1 are correct
(C) 2 and 4 are correct" (D and 1 are correct

(E) Answer not known

eirauposemauppier erevey sfluing QUITEGEEILIL eters) ?

1. 1948-49 - udﬁ&.mmé;a;ggas seils G Lo 2
2. 1954-56 - B Peoas swals @upwtd

3. 1917-19 — ETL_GIT (G(LPLOLD

4. 1968-70 - @pEwus swells Gupwib

(A) 1 whmb 4 sfureaeeu B) 2 wpmb 1 sfurerae

©) 2 whmb 4 sAwrermar D) 3 wpmb 1 sAwrearene

(E) oflen_ Qzflweferena

One of the major objective of RMSA scheme is to achieve Universal
retention by the year

(A) 2025 (B) 2017
(© 2030 (D){ozo
(E) Answer not known

RMSA §]LL§,§]6&T G&8u  Ceprsshmseler @day, ———  ayamghEeT
BTHPWEIFIOTET SESULINL L USTELD.

A) 2025 : (B) 2017

(C) 2030 (D) 2020

(E) ofenr QsNwefdene
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110. Match correctly the Authors with their corresponding works:

(a) Bertrand Russell

(b) Jean Jacques Rousseau

(¢) Friedrich Froebel
(d) Maria Montessori

@ b @@ O

) T I
® 3 Hs o
© 4 2 -1
ovi 3 2

(E) Answer not known

2
ik
3
1

1
2
3.
4

The Absorbent Mind
The Education of Man
The Social Contract
The Analysis of Mind

Qémaugplb GuirEemeTr Sieufiadr T HrOsE@sLeN Filwns Qsr_iuSss.

(a) GuALyrem FevLEV
(b) gherr s euen HGET
(€) SQQAm Mg SHGrr@ue

(d) wAwr wrewmgGemf

@ ® © O

A

- R
@3 4 2
i e |
@yids. g B

(E) &l Quflwailidrene

DEOMIV/23

s

2
3.
4

70

o dTafiré@LD aTD
wengefler sdel
FOPS GULIBHLD

werdlen Li@Glumiey



el

112.

Which of the following are incorrectly paired?

1. GIS —  Geographic Information System

2. DBT —  Direct Beneficiary Transfer

3. GPR - Government Process Redesigning

4. GSTN -  Goods and Services Tax Network

(A) 1 gnd 3 are incorrect (B) 3 and 4 are incorrect
(CW”2 and. 3 are incorrect (D) 2 and 4 are incorrect

(E) Answer not known

Reraumelcoaipmier areneu saupns BeenssiiLC Hdrarg) ?

1. GIS —  Geographic Information System

2. DBT -  Direct Beneficiary Transfer

3. GPR -  Government Process Redesigning

4. GSTN -  Goods and Services Tax Network

(A) 1 pmib 3 seuprenereu (B) 3 wppb 4 seupreana
©) 2 wpmw 3 saiprareme . (D) 2 wppud 4 seupraree

(E) ofenr_ GsRwefidvenay

The Digital India initiative focussing on specific aspects of transforming
India into a digitally empowered nation were built upon ——— pillars.

(A%ine (B) five

(O six (D) three
(E) Answer not known :

@idurmey el & sarafloney GuHD Casions wrppsHETE @A L

SbFRSmen @wras Gsran. gl d @sHur Sy — Setrsafl ehr

<2iquuenL_wid 2 Ganssi@UbDS.
&)  gerLg B) gig

© <o D) epang
(E) ofenr Osflucidvame

il ~ DEOMIV/23
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113. “Free and compulsory and free basic primary education should be
provided for all children between the age of 6 and 14" in Wardha
Scheme. The above was recommended by which one of the following?

(A)Ahe Sargent Committee Report
(B) The Abbot and Wood Report
(C) Harting Committee Report

(D) Woods Report

(E) Answer not known

“armisr HLLEHD 6 psd 14 awg aeplorer OS5 GLPHDSSEEEGD
Blows SLTL SigliliedL QUbLs Selil eulphis CauanBHib”. @& Wereumbd b
e ufibgieny ?

(A)  emrgfuiramn G

(B) =CGurl whmib o &
(C) aprig® G

D) e 6w

(E) oL Osflualdoma

114. “To achieve the goal of universalization of elementary education of
satisfactory quality by 2010”. Select the following scheme with this

objective.
(A)/SSA (B) RUSA

(C) RMSA (D) Samagra Shiksha
(E) Answer not known ‘

“Qar_ss soellurary 20105@ET 2 OSWILDTET ST Qsr_&s  sded
SoaaimsEh HoLssCaadmn’. @g Shsan. b L e CrrésomGd

(A) _' SSA (B) RUSA
(C) RMSA D) swsy Hsaqm
(B) efen Gaflwieilerene
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115. Identify the name of the intelligence theory where each factor is
explained based on the 3D model.

(A) Multifactor Theory

(B) Spearman two factor theory
(C) Group factor theory

V(DW}uilford theory
(E) Answer not known

3D wrdMlwmens ertpsy  @aQamm  smaflawuyn eflend@id  mTamBleds
CaM_ LMoL el _WINETLD HTETs. ‘ : '

(A)  uvesmad Cam un@ _

(B)  enQuiGuer @i e smyef CamLinE)
©) s Osraas

D) HoCuri® Csm un()

(E) oflenr Osfuicldeme

116. What does androgynous refer to?

(A%ombination of masculine and female traits
(B) Combination of male and female reproductive organs
(C) Alignment towards masculine character

(D) When someone exhibits neither masculine nor feminine traits
(E) Answer not known

Q@I Grmeenev eremig arenss GHEEDS?

(A)  =ye6m wHmID Quasr LTYS®aTs QETam_ouisdr

(B)  spedor wpmid Quer @en@umss e nitismer Qarem_euisdr
©) <2681 LaiTLEenaT DIFSHD 2 L wIeiGET

D)  yesor wHmID CuekT Fenaibsmer QeveflliLRsgrsaiser

@ ool Gsfludiame
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117. Which one of the following is a type of learning that allows learners to
utilize the ability to learn both face-to-face and online through digital

platform?
(A) E-learning (B¥Blended learning
(C) Mobile learning (D) Distance learning

(E) Answer not known

Qemeupaiaeupiler e SHDE (PP g Rl @ SETRSET LPLD CpméeE Coir hmib
Spareaid sHEh Fpmer LUaTLUGSS shLeTsmaT Siawdsf s ?

(A) Her @enemmidsHHO B) souy gpopssbHed

(C) @usswpm sHPS D) Asreawgnys SHHE

() &e Qafiweildeame |

118. Which of the procedures is the proper one to follow while creating an
institution plan?
(A)Aurvey, Prepare plan and Project, Execute, Evaluate
(B) Evaluate, Survey, Prepare plan and Project, Execute
(C) Survey, Evaluate, Prepare plan and Project, Execute
(D) Evaluate, Prepare plan and Projecf, Execute, Survey
(E) Answer not known '

o0 Doeas Sl sms 2 @Garsen Curg daupp Gelemi BenL(penmaatic
ergy FMlwimeng) ? :

(A) sars@s@uy, HLrbd oHpd GsudFlLb 2 HerEse, Gacusbﬁ@ggug,@,
& end e

B) wHuG e, sasCsEUy, HLbd  HHID QeweBlL b 2 HaTsEHD,
Qrusoups55e

(©) sons@s@uy, wHoGLd, Sb wHpd CeudHLD 2 GarEsD,

QFLdLRSSISD

(D) wHudre, Hiind oHpd GeudSiLb 2 (Heurssd, QewdupHSsiseD,
senré&OsH UL A

(E) Aer Qgfluedana
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119. Which one of the following approach would be better, considering the

120.

~ country’s future development?

(A) Cost benefit approach
(B an power approach
(C) Social demand approach
(D) Decision — making approach
(E) Answer not known
Brligén erdlisne euaniéfleanws smsded Qaran@ Geraumn aiGuampsaian gl
SpriLins @)HHELD ?
(A)  Qrewey Lwdr SiEiG®D
(B) uvaflgaear Cuararew @G
©) seps Csman cigiBp@p
D) puGupsed s@Epop
(E) oo QsMwueidama

Socially . Useful Productive Work (SUPW) as a central part of school
curriculum is based on the recommendations of

(A)

(B)
(©)
(D
(E)

Sargeant Committee

Kothari Committee
Bakthavachalam Committee
Iswar Bhai Patel Committee
Answer not known

spall  Lwgydrar 2 pusd umrﬂ SUPW) wuérefl s@aiALsder  eowl
LE@HLTE g@ow el abss Gw Libgor Caisg

(A)

(B)

©)
(D)
(E)

ETTEga’ &P
Comrggril @p

UG aiFsald G

e eupumil LGL6 @&

aflem L Qg Mwelliene
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121. The modern vocational guidance began in which year and who was
considered the father of vocational guidance

(&)

1907 and Parl Franksons

(B}/1'908 and Frank_ Parsons

(©)
D)

1922 and Paul Fransons
1895 and Franc Paulsons

(E) Answer not known

pefar Osmfe afsr @se by wETgd  Gamhdug,

aflsr_Gsdler shasuTss smsUILHEHDTT?

(A)
B)
©
@)
(E)

1907 whHmb Lmied SLFThEsaman
1908 ipmith Qgnraé LTiaaTen
1922 wpgpib ured Gyrenseney .
1895 wiph Syras LirdFebTen
efenrL Ggflussiidvana

wri  Ggmfled

122. Monthly test is example for which of the following Assessment in the
field of education

(M ormative Assessment
(B) Summative Assessment
(C) Continuous and Comprehensive evaluation
(D) Self Assessment
(E) Answer not known
orgmbdly Coiray eramug) GeeuBLD aThs wHOEL 1 HE @@ TOESSSTLH
A)  aemd wHISE '
B) Gsressd wHLSE
(C) Qgm_ir whpd Ggr@uy wHIIE
D) sad w5
(B) &feo Qgfweiicene
DEOMIV/23 15



123. ‘Which one of the followmg does not come under the purwew of the
professional ethics of a counselor?

(A) Confidentiality : (B) Tolerance

(C) Volunteering DI Self-grooming
(E) Answer not known

Gereueussrapdle es @m yComssilar Asmoapap Apdlapermseiicn Sib

Qa7
Q) @rsdusserenio (B) Quryerw

(C)  seneomias gpavariy (D) spsriiuEsssD
(E) e Qsfueideana ‘

124. The Stratospheric ozone layer depletion leads to

(AW Global Warming (B) Pollution

(C) Depletion of resocurces (D) Environmental degradation
(E) Answer not known '

Heflufler aoCrGLraviwfier o drar @Gsran <IPéE G@PUBBTD 2 GHTL TeUg)
(A) uye Gauriuwent_ge (B) wraur@

© QUETTEISHT GPUGHD D) sppsewsd Endey
(F) o&leni Gsfweidwena

125. In India the free a1'1d- compulsory education is provided upto the age
W 12 YTt
(C)_ 16 (D) 18

(E) Answer not known

Qigwreiled Qaeus wHmb sy sHel 0 — Qg  Guay
Slefl&siL HEHDg:!. : .

4) 12 B 14

€ 16 D) 18

(B) ofenr Gsflucldame
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126. When was the UN Conference on Human Environment, Stockholm held?
(A)/197 2 (B) 1976
(© 1971 (D) 1973
(E) Answer not known

psdu prhsdr wallgEped Qgrifurer wLIETE doLmsCapmbled ehs e

perL_Qubpg! ?
(4 1972 (B) 1976
(C) 1971 (D) 1973

(E) eflen Qsfwclidsene

197. USB is the common type of port found in modern computers. What does
this USB refer to '

(AW Universal Serial Bus

(B) Uninterrupted Service Bus
(C) Universal Service Button
(D) Uniform Serial Button

(E) Answer not known

pelan safaflsaio sramiu@n Baabd Gurgerear eies GumiL USB. @ss USB
eremugen edfleunéaid eraime?

(A) Universal Serial Bus

(B) Uninterrupted Service Bus
(C) Universal Service Button
(D) Uniform Serial Button

(B) &lenr Qsfimeldame
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128.

129.

130.

Who compiled ‘Yoga Sutra’?

(A) Kapila Dos (BY Patanjali
(C) Sankaracharya . (D) Chanakya
(E) Answer not known ;

‘Gursr @gsfrtismer Qgr@sseaur wnt?
(A) &9 gmev (B) usgysd

(C) smsgremfum (D) sremadwi
(B) oo Qsfweideame

When was the Sierra Club founded in United States?

(A)/1892- (B) 1927
(C) 1916 (D) 1902

(E) Answer not known

Swyr ferls GQwAsareld eriGuimg HmeuiuLg?

(A) 1892 (B) 1927
(C) 1916 D) 1902
(E) ofeni. Osfualadeane

This refers to a system of school-based evaluation of students that cover

all aspects of students development.

(A) Formative evaluation

(B) Objective evaluation

(C) Descriptive evaluation

(DY Continuous and comprehensive evaluation
(E) Answer not known

B& wrestatseilar euaniFHller i@asg SIbsRs@anUD o drer SHu  LeTad

SiqliueL dorer wrameutrsailar wHSE wapomwus Ghsdps. :

(A) QsrEuyPee wHrniE

(B) uypHlee wHuSE

(C)  efeugar wHISH

(D) Gsrii wpyid AsTEtiLy wHIIE
(E) efeni Qs flueiidhena

79
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131. The proximate principles of our food are

I. Protem

IT. Minerals

III. Fats

IV. Vitamins

Use the codes given below for corréct answer
(A) TandII are correct

(B)/I and IIT are correct
(C) IIandIll are correct
(D) 1II and IV are correct
(E) Answer not known

BLOG o amaflen QEmrAy Gareramaser aemis)
L yGyrieer (Uysd)

II. srg o cser

III. Qamgpuiy

IV. aalLifer

Qar@ésnr L @HluSiymer mapg sfurar sllen_mw GCarbdshés.
(A) I wpgd IT &M

(B) I wpmwb III &

(C) I opgud I1I &M

D) 1T wpmd IV &f

(E) dflenr Gzfuelidena
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132.

133.

Assertion [A] : All teaching implies learning.
Reason [R] : Learning to be useful, must be derived from teaching.

Choose the correct answer from the following:

(A) Both [A] and [R] are true but [R]is not correct explanation of [A]
(BMA] is true but [R] is false

(C) [A] is false but [R] is true : :
(D) Both [A] and [R] are true and [R] is correct explanation of [A]
(E) Answer not known ' '

spm [A] L SIemsE spassYIL sppae @b,
sijenrid [R] - LuendteTsns @ mes SHPISEQSTETLE) a@&ﬁgaﬁs&@ﬁggj
Quimiig Geuegm(pib.

a?@a;afwmeu@ﬁlsﬁ]@gb@ sflwrer eflen_eniw CorbOs0.

@) Gopemflu [A] wogin [R] Granpo s 2ems [R] admng [A] semer
sflwnen eflerss0dena :

B)  [A] eremugy & e [R] eremig seugy
©)  [A] erairug soum pemad [R] aretrugs s

(D) Copedu [A] wpgw [R] Grav@n sl womn [R] g [A] sarer
Fflwimar eflerssis 24@Lb.

(B) oo Osfueiioame

Article — 45 of our constitution provides that the State should strive to

provide -to all children.
(A) * Free education (B) Compulsory education
(Cw”Both (A) and (B) - (D) Healthy environment

(E) Answer not known

[BLDG, ..—'_’,zu;ré]u_xsumi.oul_; FLLT e 45-6r Ulg. @eiQam orile @rsh SIDETE ]
Leref] GLBDSSEHEE W Slaflés Geuatr(ib.

(A) Beair sdei B) stimu sdhes

O ©w wpgid (B) @rar@o D) asemorer GLped

(E) ofleni Qgflueldene :
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134.

135.

When the learner proceeds the path of learning through the same frames

in the same order it is called as? .
(A)Ainear programme (B) Branching programme
(C) Mathetics programme (D) Skip programme

(E) Answer not known

oremeniadr Shmear LTamzuid QeagbGurgl SHH® gl LB Cpyms Qadoautd
Hlaibeenat Sienpsalinpelgl '

(A) GCpranfs Hrob - (B) Seaads HD

(C) Culsigsao Hib (D) sedfsEn b

(E) eflen Qsfwueciioma

One of the following is a solving guide that contains performance criteria
which can be used to assess a particula;xz)e of performance?

(A) Assessment sheet (B¥ Rubrics
(C) Concept Map (D) Diagnostic test

- (E) Answer not known

136.

Qemeu(peuaneupHiad oD, G SOOI a5 QawdSpanae wﬁulﬁl@\m%b@u
LU (OG5S g 1q 1 QEwie e 2iere|GHTREMETS QararL.  WHLGILIEHT
aulfsT g LG

A) wHuIE srar (B) mafsan
(C) wer euanyLILID | D) sepuds Carey
(E) efian. Gaflusciidama

Multifactor theory of intelligence was givep by

(&)  Charles Spearman (BY'Thorndike
(C) Thurstone (D) Ghilford
(E) Answer not known

‘ya)aarrrysuuﬂ pI@TeRTHIe] Cam_umeL sifepsiuGssuel
(A) emiesy LIt  (B) grivemen s
(C) siraoLan D) SaGurih
(E) ofenr Qafiweiidma
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137.

138.

Idealism in education should be

F
(A) Intellect centre

(B) Emotion centre

(C olistic

(D) Moral centre

(E) Answer not known

- sdeflule for Awengib Glens enowinres Qardrar Geuesn(®ib

Q) siflanppe @OWIDTEN)

B war@eauwsd ewvuorss Qsiregor_g;

(®) @@mmu_rrrm cuanii&s)
D) sriss EPLOWILO T
(B) e Osfuciome

When was the First Five Year Plan launched?

(AM"1950-51 B) 1955.56
© 1960-61 D) 1965-66

(E) Answer not known

s ghsran® b auCuig Cgm_midluig 7
(A) 1950-51 : (B) 1955-56
(C) 1960-61 (D) 1965-66

(B) &fen_ Qs fweilcdency

83
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139. The National Knowledge Commission was constituted in the year

&) 2000 (BY5005
(C) 2008 (D) 2010
(E) Answer not known

Gzl e EnETWID 2 (HeurssLILILL <)
(A) 2000 (B) 2005
(C) 2008 (D) 2010
(B) eflo Qpflueidme

140. - approach to curriculum is meant for the one who cares the
thought, courteous enough to translate the material into logical forms
and tempt the growing child to advance.

(A) oncentric (B) Topical
(CW Spiral (D) Systems
(E) Answer not known

BOOSHL L. SESPOD raug GRbmsuiean Hpsenanie bsmD
QEraTL_ e S @hSESTE D], UL EQwrar  eulgeUBISEHSE L (W1 ATR] (Tl
QuomfQuTiUSHESD cuaT(HLd GWbengulanar (pe ané SISTHeISHSLTES-

(A) Qumgenwil (B) sevaitemt

(C) &mer gpeoDd (D) HrL ASGSPDD

(B) ofenr Qsflweiidme

141. In the instructional design model ‘ADDIE, the third letter ‘D’ stands for

(A) Design A (B) Discuss
(C) Direction (DYDevelop
(E) Answer not known.

e msse® GugeIenLIL) wrdfl ‘ADDIE ge ppETDTEUE! Gr@‘ésg D agmars

GHEH DS ? |
(A) Design (B) Discuss
(C) Direction (D) Develop

(B) efler Qzflueiidena
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142.

143.

144,

The Distance Education Council (DEC) was dissolved and all regulatory
functions was undertaken by UGC under Distance Education
Bureau (DEB) with effect from .

(AW” 2013 (B) 2014

C) 2011 (D) 2022

(E) Answer not known £

Oprevcogrrs sael saedlo DEC) EDVESIULQ, SDaFH  QuphiEGweoD
QeweLm@sesib Cgreveogmys  sded) vaflusgfler  (DEB) & UGCeyam
DL (WpepLbhSSLLI L 2,607 ()

(A) 2013 (B) 2014

© 2011 (D) 2022

E) o Asfusivma

The enactment of the Rights of Persons with Disabilities Act (2016)
fulfills the obligations of which one of the following UN convention?

(A) UNTOC (BY UNCRPD
(C) UNCRC (D) UNCCD

(E) Answer not known

Lrdms Spemrafs@résrar o fenosar FLiub, 2016s mengUu(ag@mg}

lﬁ]GﬁTGug?Lb &3. 6. el ahS R LB PULIBSSS) ener anm@sumgjmg,'rra;
Sienwslmg) 2

(Ad) UNTOC (B) UNCRPD
(C) UNCRC (D) UNCCD
E) e Asfucicmame :

Which one among the following years has been declared by the United
Nations as, International year for Sport and Physical Education’?

(AW 2005 . (B) 2015
(C) 2020 (D) 2023
(E) Answer not known

Wetreupid <oy aiBs@ager TS el REAW BrRsaeILTD eflepemum ) Lhmib
2L pseveilsarear sraiGss IS SPleflGsur_() eeg) ?

A) 2005 (B) 2015

(G 2020 (D) 2023
(E) oo Asfucidame ;
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145. Which one of the following functions of management precedes the
coordination stage? . . :

(A) Staffing (B) Reporting
(C) Organising ( irecting
(E) Answer not known

Bireumagdan 1Gameal b Qewdoureaid abs Gl pEhdmariy HoosE (peit

Qu(HEUSI 2
(A)  weflwmerit Hlusoend B) =iflsmsiid
©) soEHs@DEED D) Quées®

(B) eflen. QpRusiideas

146. We have a fixed pattern of problem solving behaviour to find solution for
a particular type of problem, this refers to
(A) Eccentricity (BYFunctional Fixedness
(C) Response reaction (D) Operant Behaviour
(E) Answer not known

-

SMD @6 GOUEL L. aues Ass@ises Sraisrer @0 EHmdlL aies Hagze

Eisge pLSeoguiana Qarem@erGentd, &3 Wenar GHESDG-
(A)  ewwnippss B) Grueur ﬁmsﬁggeﬁrmm
(C) gomsd e ralenar D) Qsueuri® pSos

(E) eflewL- QgRweiicena

147. The Indian Universities Act was enacted in 1904 based on the report and

recommendations of this commission

-(Aﬁ{aleigh Commission (B) Hunter Commission

(C) Wood’s Despatch (D) Sadler Commission
(E) Answer not known

]

Qb5 EQwsHe oféens  WOHOID Lfbagienrulia eigliueoLlod  @bHwuc

LI SEOGHDSHRISHT FLLID, 1904 Q& GubprucLgl.

(A) prCal GUWD (B) apa@ir_ir GUpL0W
(C) elev A@IULD®E D) smiai Gowowd
(B) offlen- Qgfweidma
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148.

149,

assessment tool indicates the criteria of achievement across

written, oral, visual and activity components,

(A) Observation : (B) Group activity
(C) Portfolio Record (Wbrics
(E)  Answer not known

WIS RS swell erpsg, aUmLGLmE, smd whmb GeFwedum_G&
spiseiiar sienoys suHleaasmans GIEL T

A) 2 ppCrrssd B) sws Qeweun@
©€) Qrudwpoe LHGeu) D) emeifsen
E) e QsMweidene

represents informed socig cultural ideas about gender

relationships and interactions, the power status that define them

(A) Gender identity (B) Gendgr sensitization
(CVGendér dynamics (D) Gender Stereotyping

(E) Answer_ not known'

(A)  uren SI@L_IWITETLD (B) unredar o_ewitdlmenr

(C) urraS]arr@uJé;ssaﬂu_nd) : D) unelier RIETTLSs6TaND

EB) e Az fweldana
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150.

151.

Which among the following is an Online Programme initiated by
Government of India, provides platform to facilitate hosting courses from
gth class till post graduation?

(A) - Shodhganga

®) Shodhsindhu .
(CW SWAYAM
©) UDEMY

(E) Answer not known

Qenai(reuaraupbler ergl @BHL SATETRIESSTD QgmthsuC DLETEEEHT LPEOLD
ob euFLIL (PED (PHBEOD L L g ey auenT L RIGET  eUpBIGlD  SETONS

QwEEDS?

(A) Cengsmsm

B) Cenzépa

(C) SWAYAM

(D) UDEMY

(E) eflen Qzfiweidema

Life-Centered Curriculum ig also known as
(A)\/Community Based Curriculum

(B) Knowledge Based Curriculum.

(C) Activity Based Curriculum

(D) Subject Based Curriculum

(E) Answer not known

QUTLREENS GOLDIL] g L.D GréﬂQJLb SianpssLHADS-
(A) sops SiquneLuierer s@OSH LD
(B) oifloy sTihs seFHLD

(C) GQeweour® Siq e emar SHOSH LD

(D) urb eTiHS saGH 11D

(B) ofe Gaflweioeme
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152. Assertion [A]: = Women’s Education increase the share of family

income and health care for children.

Reason [R] : Giving education to women will reduce their

dependency and enhance their status.
(A)  [A] is true but [R] is false
(B oth [A] and [R] are true; and [R] is the correct explanation of [A]
(C)  [A] is false, [R] is true V

(D) Both [A] and [R] are true, but [R] is not thercorrect explanation
of [A]

(E) Answer not known

sapm  [A]: Queimsailar  swed Gy amorasHar  LkemswLb
GLOHDSEHERESTET HETHML) LIMGISTI6nLILD 2flefsdng).

syenh [R] : Quans@rsss soefl sefliug  eeuiser s miLes
- GG Sieuisafler Hlenaenur 2 WIfi§gilb.

(A). [A] & [R] seugy

(B)  [A] womid [R] &M, Gugnd [R] sfiwmer cdlersegans [A] &@ <iansdpg

©) [Al sap [R] &

(D) [A] s [R] &, oyenred [R] seupmer dlarsagens [A] 6@ sefsding

(E)  sfen_ Qs flweidama

B : &9 DEOMIV/23
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153. Which of the following statements are ftrue about synchronous
communication style?

(i) Communication between the teacher and the taught directly
through Audio-Video conferencing. .

(ii) No face to face communication.

(iii) Reply for queries are provided at an specified time later.
(A) (i) only (BY(1) only

(C) (i) and (iii) only | (D) () and (i) only

() Answer not known

asSesairear @z (P LS Qenaupd Sappised gl o_aiTEnLD ?

1) ARwT HHID DIETEIHSSTE @gmiiy Gpriguns arQamred snan@uyensln
epeold Bent GLmib.

(i) Cpmse Gpr QsrLiy @dene
(ili) Caerels@pssner LE® EHuLnL Ty Gprgsle auiprE Il HID.
(A) (1) Lo B) () wiEw
(©)  Gi) wpgud (iti) we G D) (@) wogd (i) O
(B) ol Qpfiweldme

154. Identify from the following the focus of Article 21A of Indian
Constitution? :

(A)/ﬁight to education

(B) Freedom of speech and expression
(C) Equality before law '

(D) Protection of interest of minorities
(E) Answer not known

@bHu srduaaipiiden Gifley 21AGE @LWSEHSDS SeeupeuaneubdeN mhsi
oienL_ULITGTD STesrayib. A

(A) sodl o.few

(B) Gués wHIb SGHS FEHHTD

(C) s gfén e sOSHUD

(D) Apurerawianiicn paer LTSS
(E) ofer Qgflueidee
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155. Match thé Philosophers with their corresponding philosophy :
(8 Rabindranath Tagore

(b) John Dewey

(c) Swami Vivekananda

(d) Dr. B.R. Ambedkar

(2)
4) 1
B) 2

%1

D) 4

(b)

2
4
4
2

()

3

1

1
1

(d)

4
3
2
3.

(E) Answer not known

1.

Sl G

Idealism
Secularism
Naturalism

Pragmatism

SSS|CUEHTEHSMET <465 (@6t Qg min en_w ggg,jmrma;@L_GbT QurBSEH Ha -

(@) pSardypns srami

(b) smer weus

() &eums lGousranmgir
(d) Dr. BR. ACLSET

(a)
A) 1
®B) 2
€3
D) 4

(B) Qeni_ Asflweldena

(b)

2
4
4
2

e i )

(©

(@

4
3
: .
3

1
2
3.
4

91

Qe Aw aurgid
g &Fmiferenin

@Lgbm&mngm

- @ _peparsib
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156. Arrange the following elements according to the process of motivation:

1. Behaviour
2. Goal

3. Feedback
4. Motive
(AW 4,1,2,3
® 2,431
C) 1,2,4,3
®) 3,1,2,4

(E) Answer not known
o hgisd AeSIPEDES THU 1Gletreu(BLD &nfySeneT RPTEISEOEER|LD.

1. ps®5
2. Qe&s

3. Gérgymi1d
4. GCprssd
A) 4,1,2,3
B 2,4,3,1
(€), .12 4,3
®) 3,1,2,4

(B) oflen Qgfweildame
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157. Which of the following are the responsibilities of IGNOU?

(1)- Design and implement programmes in accordance with local needs.
(1) Teaching university.

(1)) Apex body to coordinate and determine the standards of distance

education.
AV and Gii) only
B () and (ii) only
(©) (@) only
(D) (i) only
(E). Answer not known

NereumaraupBies IGNOU & QUi seT eTenau ?

O ednept Comeasenss oL Sl misenar aiy aieningg) AewbLRssso
() spAss@ LD EM&ESELD

(i) Osrevasis soefufer sImEmT @GRAmaTsg Bi@mnud Qeiuyb oss
A <S{EMLOLIL]

@) @) whpd (i) wr G
B) D-wopd () v
© O wvreo
(D) (D) wrew
(E) oo Qsfluiciorane

B i 93 : DEOMIV/23
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158. Which among the following describes “Socially Useful Productive Work”
(SUPW)?

(A) Kothari Commission
(B)Ashwar Bhai Patel Comm1ttee
(C) Malcom Adiseshiah Committee
(D) National Education Policy 1986
(E) Answer not known

Qenaumeuaabhieodr abss &SP “gaps Lwgyarer 2 Husdl Laflsar (%UPW) Lifh )

efler&d Lerarg) ? .
(A) Gsnpsnlfl geemmuLD (B) rreveuit umi ULGL&® &P
(C) omisn RHCFmazl G (D) Gsdlu swell Ganerans 1986

(E) oo Gaflusidame

159. Arrange the following in Chronological order:
1. National Education Policy (1986)

2. TKothari Education Commission
3. Iswar Bhai Patel Committee

4. Malcom Adiseshiah Committee report

(A 2,1,3,4 B) 4,2,3,1
€y 3,2,4,1 ( ; 3,4, 1
(E) Answer not known

Qaraimeaaipan ST aifla@siiLliy SIS EHELD.

1. Gsélwu sad dardras (1986)

2. Cergsrl sdal %mmm

3. meveniumi uGL® &

4. wrosb HCsmegll Gy ADS®S

A 21,34 , (B) 4,2,8,1
C) 3,2,4,1 D) 2,3,4,1
(B) ofer Gaflueideame
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160. Who proposed the concept of “A balanced intellect presupposes a
harmonious growth of body mind and soul”?

(AW Gandhi _  (B) Vivekanandhar

(C) Buddha (D) Tagore
(E) Answer not known.

‘@G fymer Usd, 21 d wend whHpD eyemomedan Sewssionar  euariEfew
YerasHng” e &msdencr perQwmApsat wir '

(A) &np (B) lGeusmanpsr

©  ussir D) srgnir

(B)  efeni_ Gsflueidenae

161. Which one of the following is not the concern of the Committee in
reviewing the NPE and its implementation?

(A) Equity and Social Justice

(B) Decentralisation of education management at all levels
(C)Vﬁstablishment of Universities

D) Eétablishment of Participatory educational order

(E) Answer not known |

Garameaatepiid gdam NPE m;ijgu‘n Sigdn  Qewarssseos  wHiunia
Qaiicudle) @upellar Corssib i ?

(A)  swsgamn wppd saps B

B) Simenggl L miselgih sdefl Cinererain LITeUen& &b

(C) udsmos spsismar Blmieyse

D) ukGEpy swefl pupmes Hpasdo

(B) oo Qsfweldame

B : 95 DEOMIV/23
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169. Match the Philosopher with his Philosophy :

Philosopher Philosophy
(a) Plato 1. Realism
(b) Dewey 2 Naturalism
(¢) Bertrand Russell 3. Pragmatism
(d) Rousseau 4. Jdealism

@ ® ©© O
A 1 2 4 3
® 3 1 2 4
o2 3 1 2
D) 2 4 3 1
(E) Answer not known

gggm@n@ﬂmm Seurg! g(&@mgggm @un@gg5 5

s5EeuEHTa BoEiIeuID
(@) QG G 1. wpniggeungid
(b) Guw 2. @ubpeaseirshd
© Quityran gévaod 3. POLPEPAITSLD
(d) eCer 4, QHerduarsbd

@ ©®& © O
@Byl Sege e 8
2 R R SO
@ 2 g T 2
-2 iy 8l
(B) oo Gsfluadome
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163.

164.

Which of the following statements are true about individual differences'?

(). Trillians and trillians of leaves grow and fade away, all leaves are
identical.

(i1) Nature is perfectly imperfect.

(iii) Millions and millions of persons have been born and have died, but
no two persons were identical

(A)- () and (iii) only , (B) (ii) only
(© () only OWG) and (i) only

(E) Answer not known
gesflw rer G@Jguurr@a;emmu ubfu Qereupd smppisaid og o @renw?

® fev eSwissr LD IﬁlﬂmG&U_IGﬁT Qewsdr aaribg WLl HAD, ordor
&GDGDCE@LD@ lyusrrg] WiTETeney

(i) Quibes WHHQIDd =L TeTionag)

(1) WeosSluer wpgd Bodluar samssrearaiisd Gphs) QmbgiedreTat, syaed
@ranp puisar @Gy wrAfuTs Gdam. -

(A) @) whmb (i) wr Gid (B) @11) w_ @
© @) wrew D) (i) wpmb (1ii) wr G
(E) olerr Azfueiicoana-

Personality trait of an individual is considered to be the product of the
following

(A) Attitude x Heredity

(B)VE[eredlty x Environment

(C) Mental and Emotional health x Heredity
(D) Aptitude x Environment

(E) Answer not known

R g_r,soﬂ puflen  gp@peawl  veary  QarumeaerahBar  cfamerQurmarrads
SHSULHE mE

(A)  weraurereny x L

B) vy * @GLpblena

(C)  werb wpmib warQeusd Crrsdwb x wry
D) B x @pHew

(E) e&ler_ Qpfwelérancy
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165. Assertion [A] : Good posture affect the health, physical efficiency,

mental attitude and appearance of an individual.

Reason [R] : Regular exercises strengthen the muscles and

enhance the quality of movement
(A) [A] is true but [R] 1s fals;a
(B) Both [A] and [R] are true, but [R] is the correct explanation of [A]-
(C) [Alis false, [R] is true '

(D)Aoth [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

sapm [A] : e Garyamar g puflar RCrmEfub, 216 Smer, e
SgiGrop whpd Cemdpses LTHEADS.

anmenrd [R] : PHanafl o LpLps semssmer aULBSH Qusssdear sTEmS
. Cubu@pssHng!. - ' 4

(&) [A] &, gemme [R] saup

(B) [A] womid [R] &f syenra [R] sflwrer cilaréasams [A] 8@ Qarh&sng.

(€) [A] seupy wpmid [R] &

@) [A] wopg [R] &l e [R] saupren eflersssms [Al 6@ Qarhsdps

(B & Osflueiaama
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166. Match the appropriate needs :

(@ Need for equality Ik
(b) Need for practical experience 2
(c) Need for independent thinking 3.
(d) Need for development of confidence 4

@ O © @

(A)/3 |

1 4
B) 2 ey
(o) T Ml M LR
D) 4 1 2 3

(E) Answer not known
Ggmfye_w Cpamausmers Quimsss :

(@) swszIeus Caaan

Vocational needs
Intellectual needs
Moral needs

Emotional needs

1. Qsngdp Csme
(b) peqapep Sigues Coma 2. sifleyent Cseneu
(©) aspdlyworer HApsoer Coama 3.  eusss Csamal
(d) pw9ses aeniedssrear Czenau 4. o emitsfl Cyama

@ O © @

(A8 s drar e g
(B) 2 3 4 s
© 1 e
(D) A it
(B) eferL Qsiflusidma
B : 99
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167. Who emphasized “Education without character, Science without

humanity and Commerce without morality are useless and dangerous”?
(A Ma-hafma Gandhi (B) Ravindranath Tagore

(C) Vivekanandhar : (D) Sri Aurobindho
(E) Answer not known

“Lary @omrs sdel, walgCpuilioars Siblellue, pllevers euisssd
ofwemeal LWeTHDFID PUSSTTHID @G e SHHSSaer auadli|piSH weut

UAITIT 2
(A)  warswr s - (B) yeSpHrpns snemt
(C) NBausnenpsir (D) uf <impsT

(F) &feL Osfuelame

168. Who said that globalization is “removal of barriers to free trade and

closer integration of national economies™

(A) Rengarajan ~~ (B) Amartya Sen
(CW Joseph Stiglitz (D) Adam Smith
(E) Answer not known

D_@SHDUIDTEHD ETETLIS, “E—gtl'bﬁlj‘- QTEEESHDETET SOLEMET SSHHeg LHHID
Gzsfiw QunmeTTaTIESE®Er QBHESOTE @RS masse” e S et wim?
(A) grasprmer (B) e{mﬁgﬁun Qgen

(C)  Ggrsu eoig el D) <Lib evlbls
) oo Osfucidemn
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169.

170.

171.

1s not a tool for evaluating student’s learning,
(A) - Rubrics (B) Self-assessment
(C) Examination (D¥Handwriting
() Answer not known ‘
@dlevr erg) wremauisafien spHpae AL Peugparer smedl e o
(A)  emuMsev B) sw wHISEH
(C) GCsiey D) @sQuuyss
(B)  dllen Qsfiwelcreney

Conference, Field trip, Skit, Symposium are some techniques of
(A) Personal guidance (B¥Group guidance

(C) Individualized guidance (D) Educational guidance
(E) Answer not known

LoTEI(H), Sem Lwenrib, svdl., AbCurfun SpSlween __ ot Sl mIC_LkigeT.
(A)  seflpur auflam Gigd B) sy anflsm_ {5 g

©) sefltc auflsm B (D) sdvel aufam_ G

(B) oo Qsflweidena

The term futurology was coined by
(A) Jacques Delores (B) Aurobindo

(C) Dr. Karan Singh : (DYGssip K. Flechtheim
(E) Answer not known

erdlitasreailuicd sreitn Qamdana 2 (Heumssluteurt

(A)  mr&EGsrav 14 Gwmyen B) ompCanr

(C) Dr. syar D) @80 K. QaréSid
(E) eflanr_ Qg,lﬂu_]aﬁlsbma)‘
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172. Choose the right matches :

1. Ahimsa | _  To hurt anyone by words, mind and body
9. Bramhacharya _  Self-restraint of body, words and mind

3. Aparigriha _  To hoard or collect things

4. Swadhyaya — Study’ of oneself

(A) 1 and 2 are correct
(B)ffand 4 are correct
(C) 1and 3 are correct
(D) 3 and 4 are correct '

(E) Answer not known

shlwrer QUIBSSSDS Gg,ﬁb@g@é;aa ;

1. dbsr - Qardemad, angn@m, o | Gorgyid @&ruyggm
2.  Qmosflur - oL, Qare, wand pHucupBlen sL_Huuri

3. sufifrapr

QUITHLS@ET LSISHED DD Coaflligge
4. sapumur . - GO &L B0S

(A) 1 wppub 2 &rﬁ

B) 2 mﬁ;gnb 4 gf

(©) 1 wpomuo 3 &f

D) 3 wpgud 4 &

(E) ofer @pflweivame
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173. When was the Indira Gandhi National Open University (IGNOU)
founded? '

(&) August 1985
(B) March 1986

(C) January 1986
(D)onember 1985

(E) Answer not known

@ﬁﬁun smbd Coflu Sppshlere LosmusHsDd aIGUTE QFTL ks L g ?
(A) sl 1985

B) wmre 1986

) gereuf 1986

(D) ;sauLﬁuﬁ 1985

(E) ole Gsflueiioena

174. Who 1s not a member of the Gestalt school in Psychology?
(A) Wolfgang Kohler
(B) Wertheimer
(C) Kurt Koffka
(D)\farl Rogers
(E) Answer not known

QacoLmd 2 areflwed udrefluiia o mifermns @darser w7
(A) 2docusmms Camanai

B) QaurHuwi

(C) st Garsum

(D) amre> Gyregireiv

(E) dler Gsfueideane
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175. The main role of the RMSA scheme is

(A) To provide free education for all children in the age group of

6 — 14 years
(B) Preparing the curriculufn
(C) Providing relevant continuing and holistic education

( ' Funding secondary education for children hailing from the

backward classes of society

(E) Answer not known

RMSA St s8dr psdu L

(A) 6 — 14 augsELulL. SIOaEs GLbossEsEh Goas sl ouphs
Gouar (.

B) soesdsHamear gur Ceigd.

(C) QgrfyeLw Qsriswimas Lé)irj)gu.b W(peuTar seedlemu m@@@g,@. |

D) sepssden Gersmdu  euGlLamus Goips @-Epg,mg&@&@‘ BlevLHlanars
soelseE HHweisse.

(E) oo Gasfualdeme
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176.

177.

Identify the meaning of the word “E&ucation”, which is supposed to be

one of the latin word that etymologically the term ‘education’ is derived
from

(A) Tolead out (B)*The act of teaching

(C) To bring up (D) To extract out
(E) Answer not known '

wgbar aurrgogirar ‘Education’ eremuger eiisssms o wimanb sres.

Qs wsfer anmismssaiid qemrs sGHUUGEDS; Qe Cerpi@priued fHuns
sdell eramp Qemed QupriLn L g '

(A) QaafiGu anf pr 55 (B) splsEidb Qe
(€C) OQsreamp eury D) ANs0smss
(E) oo QOsfweldama

In the context of Psychology, choose the limitation of ‘Introspection
method’ from the following:

(A) Highly objective

(B)\/Highly subjective

(C) Readily available to individual :
(D) Person can know his emotions and feelings
(E) Answer not known

earaiued  @Gpalild Haramaamaundamis ‘2 aCprEs wapul’ QITIDELIS
CairbOsBSsaytb.

(&)  Ssapp yoHeoe

(B) fseyd sisHow :

C) o6 sdpuwss aafo Hassb

(D) pur sag eamniEfsdr wHMID 2 amTielsmer 2APBg Gamérer apiqutb

(B)  dfeL GsMwueddena
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178. Choose the right matches among the following :

(a): Kretschmer

(b) Galen

(¢) Freud

(d) Scheldon

(a)
(A) 2
B) 3
©) 4

]

(b)

4
2
2
7

1. Personality on basis of Psycho-Sexual
development

9. Personality on basis of relationship between
Physique and temperament

3. Personality on basis of body structure

4: Pei‘sonality on basis of temperament

© @
1, -3
1 4
Sige > i
1, .2

(E) Answer not known

QenaumeuaraipBie sflwurer QumBsshsmeTs CaQshHssab

(a) &Qreiglof

(b) Gseer

{©) Qgmic

(d) OGagdidr

(a)

A) 2
®B) 3
©) 4
D) 3

(b)

4
2
2
4

1:
2.
© @
-
.|
F 4
i 2

(B) e&fenL Qaflweddamea

DEOMIV/23

2 arafwd — umedlwed euemiigdullien ayq_uuml_uﬂéb
SL@EHELO

o | aenworiL wpmid wlammureusb@ e ulemar
o peflem gLt ufld =y EpenLd

2 L@ ewlider SiglitiaL ulld S Ehan

GampHan Sigrinam il 2y @5
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179. Which one is incorrect statement about ‘Curriculum’?

&)

(B)
©)

D
(E)

Well defined objectives with anticipated behavioural outcome,
changes expected in students

Suggested teaching method and media
Evaluation procedures laid out

uilding, classrooms, equipment
Answer not known

DRSS S5 e Cryguirs Asm_rldwns Qemp@pm_ 6Tl ?

Gy

B)

©)
M)
()

THTUTIES B Sos el @ere,s@nL e, BeT@ euamrupssiL. Crrssikisar,
reprasiseflb e TLmTSSOILEILD LOMHDEIGET

Lfbgienrésur_ SH1955d0 (LPErDSET WhHMiLD 2ETL SIS
AUGEHSILILL. LA G apenp
Sla L 1b, eu@LiLeny, 2 LIS GooT 1 & 6T

aflen Azflueeena

180. What does Intelligence Quotient' (IQ) of a child signify?

(4)
(B)

Mental age
Chronological age

(C)Vﬂental age divided by chronological age and then multiplied by

100 ;

(D) Mental age plus chronological age
(E) Answer not known

20 Gpbeoguier paraniie) s aamss G ET

(A)

B)
(©)

D)
(E)

IOGT G WIS
& auflens euuig

D& ewwans  gne  euflens Vwudamd  auEss  Gerart 100 2,60
G]u@é;&ﬂu@él,mgj

Lbar auwtg) whmib sre euflens WSS st L ed

efleni__ G]g,rﬂu_!aﬁ]d.)-mcu
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181.

182.

Best learning takes place, when the teacher is successful in arousing
of the student.

(A) Habit

(B) Attention

(’Q)Anterest

(D) Aptitude f | :
(E) Answer not known

D ITGET G TER6IT 66T - grampauer AT Qaupfl QuppTd HPHS SHOD

peoLLQAUDIEDS

(A)  upssd

(B) seuanbd

(C) yfreud

D). Qupemss oo
(E) oo QpRwaciidme

The propounder of Tnstinct Theory of Motivation’ was

" (A) Abraham Maslow

(B) Atkinson
(C) Piaget

D ¢ Dougall

(E) Answer not known

2 HEISQEETEN 2 grenamia)s Cam LMoL pemGomHHSeT Wi ?
(A) = Qrsmd wraGar

(B) < Sanger

(C) Qunlg

(D) G Lsd

(E) oflen Qzflweildans
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183. Which among the following helps the pupil in choosing an occupation, in

184.

preparing for it, in securing a job and in making progress in it?
(A) Moral Guidance

(BW" Vocational Guidance

(C) Personal Guidance

(D) Educational Guidance

(E) Answer not known

Slebreu(meuarahmie TGl mnéwm@és@ @@ Osmimes Carpls@uugo, SEDGS
sumTGeugled, Gosener HanL L OPID SFled penGarpeyid 2 gaflmg) ?
(A) srins @@5HLL® ‘
(B) Q;e_r,rr%@c;‘l)(}_pmm auflaEm_L e

©  saflowuce anfsm o

D) soel auflsmL b

(B) oL Asfueicdena

The Kothari Commission (1964 — 66) emphasized education as the major
tool of

(A) Cultural development
(B) Moral development
(C) Intellectual development

(D ocial reconstruction
(E) Answer not known

Canggmil sifleger (1964-66) sdeflenw Bsp® wsflu smeuns cuadlymig Sl ermir
(A)  serssm Cubung

(B) pssid Cuburg

©)  <eifleysmic GubLmg

D) saps wofreowrny

(E) e Qsflweldana
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185. Match the following :

(a) Active learning method Mile Stone

(b) Learning ladder National Curriculum framework

(c) Activify based learning Mind Mapping

(d) RTE Act

I

Learning cards

@ GO ©© @
B2 x L a8
12 B R et S

2
4

ofs 1 4
M) 1 3 2
(E) Answer not known

Qérau HeuaneuhepLl GUITBSSIS

() Qewelld sHOD PP 1. Qesss 5L;_L_Lb ,

(b) sHPS Gamtl . 2. Gsflu LT SHLID SLLaIOUL
() Qsweurl® Slig e ubiener sHDeD 8. weareuenyUL D

(d) RTE sirid 4. spp® S el sar

@ ® © W

R T R
12 ey S EA TR
@) B AeTA 22
10) 200 N R - 4

(E) e Gpfiwaidme
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186.

187.

Choose the right matches :

1. Open and distance learning - Life — Long learning context
2.  Self-learning — Undergoing extension education
: i offered by designated institution

3. Extension Education = QOut of sheer interest, one learn by
reading using internet and media

4.  Online Education — Teaching that operates through
virtual classroom

(A) 1and 2 are correct (B) 2 and 3 are correct

(C) 4and 3 are correct and 4 are correct

(E) Answer not known
sflurer QunmssHIEmar Csirey Qednuegb.
1. Spps wpod Asreassirs sHpad— QUITFPBTET APPEUGIDL SHGD Gipe.

2. swwors shpad —  Budsstiuc L fipecuargsme
A gg;réw;uu@ﬂ) Eﬁmw&sggsd}aﬂmmu
) Qupise.
3. offeursss sdel —  @@eamub pmib s _skismer)
- LwenLiQssiaidlenr apetd Qeumib

TeuSHlermed gmeuir a;;_i)gﬁ@%mﬁmg].

4. Qaamruafls sdoe —~  Guiflsr eugliuemp aifurs
Geuupbd sHillgsd.

A) 1 uvpgw 2 sAwraeme B) 2 wpgnd 3 sNwureraney

C) 4 wpgd 3 sfluretena D) 1 wpmibd 4 sfwurerera

(B) e OsMueldama

Who among the following mentioned this statement?
‘Education is the creation of a sound mind in a sound body’
(A) Plato (B) Socrates

(C}Kﬁristoﬂe ' (D) Mahatma Gandhi
(E) Answer not known

‘el  eretLgl < Crrsdiorer o Ll DR  baIMms 2 (Feurd@eug’ eremm
GO Leuf wimir ? :

(A) 19Cer G (B) srspesv

©). @fldoLm g : (D) warsor smpd

(B)  oferr. Qsfuiehevenas
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188. Choose the right pair :
' School of Psychology

1. Structuralism —

9. Functionalism —

3. Behaviorism -

4, Cognitive —

(A) 1 and 2 are correct .-
(C) 3 and 4 are correct
(E) Answer not known

Description

Focuses on the role of our unconsclous
thoughts

Attempts to understand why animals and
humans have developed the particular
psychological aspects that they currently
possess

Based on the premise that it is not possible
to objectively study the mind.

The study of how the social situations and

the cultures in which people find themselves
influence thinking and behavior - °

(B)/Zand 3 are correct
(D) 1 and 4 are correct

sflwrar @eoamowus Carbbs0ss :

o erediich ueTetlser

1. sUiebl eurghd  —

2. Qeweuri( argd —

3. BLE®F eurgld —_—

4. siflambpd —

A) 1, 2 gfwer sRwraTensy
(C) 3, 4 yfwer sfluirarenal
(E) &fleor Ggfliuedeoena

DEOMIV/23

eflem&sin
pog  Fuplaaeaibm aerarhisaiar  Lkidamar
IOWLDTES CETam_gl.
SHem@Eses wallgiaesb sHGLTS
QaremghEGD GHUELL e erailud bFkismar
e e maunsSwaarant eraLiengl Lfibs)
Qarar@shd pwhs.
wenens LpHleeurs prmlieig) grsluidleome
GTETUIES SllgliLeLWNEss T g
Fops GoHoesd LHHD L@TLIG ESET S
Sbganen HEID BLSMSEDW GTEIEIT) LrSsS erpes
ereiiigl LiHHw 6.

B) 2, 3 yflwer sflwreremal

D) 1,4 ydwer FRwrarenel
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189. Choose the right matches among type :

1. Muscular Endurance — 1000 meter RUN

2 The waist — hip ratio - —  To find out the fat distribution
3. Flexibility ~ —  Body Mass Index

4, Eval‘uating overall health -  Anthropometer

(A¥1 and 2 are correct (B) 1land3are correct

(C) 2 and 4 are correct (D) 3 and 4 are correct

(E) Answer not known

sflwrer QUrEsSHIsmeTs CompCa@ss

1. seos sdiys seneno = 1000 S griin

2. @euy-@or dsd 0 — Qarepliennis seam 2-50i8pg)

3. GApfipeys semenio — 2t.dfleanp @Bl QL er

4. @ GOLEE Heer Loé‘,hinﬁ@\ — weaflg 2. ware; wreaf

(A) .1, 2 <=y fwier ;lﬂu_lrreﬁmeu B) 1, 3 »fwenr sﬁ]u.l_rrarrmm -
(C) 2, 4 mpduer sRwTaene D) 3, 4 e fwuer sfurareney

(B) dler Qsflelidvame
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190. Choose the right matches among type :

1. To lose time wisely - The child should run, jump, play all day

long
2. No place for book :
~ learning _  The child should think for himself
3. No habit formation — The child is to form all the habits
4, No formal lessons — The child is able to interpret and assimilate

on the basis of cause and effect theory

(A) 1and 4 are correct

¢
(BY'1 and 2 are correct
(C) 3 and 4 are correct
(D) 2 and 3 are correct
(E) Answer not known
sflwren QUITHSSHISEDETS Csmpshiss
1. @popwrs STO5HS Qeaeile -  GPb®S ;r,rreﬁ@@gub ‘ s,
GSHSD, el enemm(HSE
2. LEss s0NEE @ 1SemanLo —  Gubms swwrs HpHes GCoarhn
3. aaifloe e BarsssHnE —  ETH@OESTET SImaFamSiid
2 (HeuTss @)L Llerenio Geuaimr(Hib
4. apeopemit LiglfeTenD —  Gyheswurarg  HTTERTD wHpb

cAaneray GCaHm_LIT g6

SiqliueLudd efars@sd WwHDID
@EEdmanssd S| 6T
BoEse

(A) 1, 4 gfwar sfluneareme

®) 1,2 yfuar sflwramal

©) 38,4 gfuer sflwrearal

D) 2, 3 syfwen sfurearea

(E) ofer Gpflusidvame

r

DEOMIV/23 114 B



191, Choose the right matcheg -

Philosopher
1 Socrateg —.
2. Plato —
3 Aristotle —
4, Rousseau -

(A).1and 3 are correct
B) 2 and 4 are correct;
(CW3 ang 4 are correct
D) 1and o are correct
(E) Answey hot known

Thought

Truth, Beauty and Goodnegg
Know Thyself

Fhlwimer Bevemrany, Csiray Qg -

S5glau@Esmed)
1. FIT& e 6hy =%
2 WCart @y —
3. @uﬂefuurt‘__u}cb —
4. wQar ~

Sbsener
2_atentn, GRS Beentn

2_siengr 1 < iBleum;

Sebef] GTGHTLIg w&penay SADLgDaETar  mepay
<24 @&LD.

TET@NE sl :

@) 1 O 3 oyl s Fflurerane,

B) 24 BSwer sfliimerene,

(C) 3, 4 Eer sflnenengy,
2

(D) L, 2 o fuier Filunerene;

(BE)  ofep Qs fwefoang
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In the study of sociology, different forms of human

192. Assertion [Al:
inter relations are involved.

Reason R : Sociology analysis social changes and social control.

g false

(&) [A] is true but [R] 1

®B) Both [A] and LR] are true and [R]1s the correct explanation of Al
[R] is true

©) [A] 18 false,
e true, but [R] is not th

oth [Al and IRl ar
of [Al
(E) Answer not known

e correct explanation

2

gafiaie [A] - gopmeiuied LI HENEAT
2 _MHE|SHEMET o GremLSHLS!-

§,®$& HipeD R]: papselu®  SLPE wrppb OO FApSHS sl
S yTEPS-
(A) [A] Guodnwurerd) ST R] Qenpunag
garug Al @

® Al [’
gRwrer cRaTES1 2 &\D-

L [R] Quodswméansl-

6w Gl Tanenay

) [Alde
@y [Al [R] @ bl

FlwITest sRenEaHD HED-

SYGITED Rl eranig [A] Qe

(B) efleri Qafiueiieea®
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193. Assertion [A]: Enactive learning is learning by doing and experiencing

the consequences of your actions.

Reason [R] : Consequences are seen as providing information.

(A) [A]is truebut [R] is false
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
(©) [A] is false, [R] is true

® oth [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) - Answer not known

gafaer [A] 1 Grudd  sHPD aaug  Qenim  spLs  OHHID  2-mEe
Qewdseficn clamarasemar AGILIENSED BGD-
snis Spag [R] © deaasen BHEIDEMET CUEIGEUBEHS smsLIUGSHeTpar.
(&) [A] Quunurangl, peTred [R] Qevipuineng.

®) [Al [R] QranGGo Guiwrarena whmd [R] ererg [A] @en sflwrer
N eTEBD A GLD-

) [A] Qenypuirangy, [R] Quoiiwimessg.

D) [A], [R] Qe Qrein@Go Quiwraee, peme [R] adnig [A] @en

Flwimest edeTSELD DD,

() fen Qg;ﬁlu_iaﬁl@émo

117 - DEOMIV/23
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194. Match correctly the Philosophies with their corresponding meaning :

(a) Logic s Values

(b) Epistemology 2 Reality and existence
(¢) Axiology 3. Reasoning

(d) Metaphysics 4 Kﬁowledge

@ ® © @
av5 4
B 3 2 1
G 3 1 4
® 2 3 1
(E) Answer not known

O . BT O )

eraumid sssieusdeamarn Qg,rn_r'rqem_u; Qur@Cearn() Genamssayn
(a) @i
(b)  enSavigiomengd

1 el (Lot sar

2 WBMIESD wHmb B msseiid
(©  @sdvfluras 3. ST ORI (LD ERTITS 6D

4

(d) Go_mAfsen aﬂ@e&u@

@ ® @© @

() T S HO
4 R PR T G
@ 5"t s
G T

(E) &L Qsflusiome
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195. Choose theright matches :

(1) Persomality —

(1) Emotion —

(111} Perception -
(v) Intrinsic Motivation —
(AW () only

(C) (ii) only

(E) Answer not known

Unique and enduring behavior patterns

Identification, Organization and

Inte-rpretation
Subjective experience

Motivation arising from external sources
(B) (i) and @) only

(D) (i) and (iv) only

GumEsspraapenp Caire] Qarnieab.

1)  @zenLo =
(i) e emr&dln Qumses -~
(iil) 9588w sib —

(iv) SisBlenas Qeugnssnd —

A) @ oo
©) (i) wepw

(E) ol Gsfweficdrena

safiggiaiorer opod Biyss BLEDS allyeimkiser
SDIOLWITETD, HeoliL] WHmb eflarssib

safliu’ L sigyeuth

Qeueflliym s gmyhmsetid @@{_‘5@1 Qu(mHLD
2 higd

B) (i) wopd () wr G

D) (1) wpgs (v) G
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196. Consider the following factors which do not influence health?
() Education and literacy
(ii) Physical environments
(i) Allocentric behavior
(iv) Biology and genetics
(A) (@i) and (iii) only (BY (iii) only
(C) (@) only : (D) (i) and (iv) only
(E) Answer not known
2 Crrsdwsamst UTdssrs NaraHbd STTaNsEr el ?
1)  soed wHmbd esshel
(i) Eubhue gpasdr
(i) Gusb6 pLsos
(Iv) 29w wopb LRAw
(A) (i) wpmbd (i) wEb (B) (iii) wr @b
©) @) wi@ (D) (i) wpmibd (V) wLED
(F) feL Osfluelaame

197. From the list of below options, which does not contribute to memory?
(A) Goal behind learning (B) Interesting learning material

(C)Vﬁender (D) Some rest after learning
(E) Answer not known ‘

SCuwarar L iqwelled 2 drem el@rILIEIGETD, 65 Hevanaussler urisalssrg ?
(A) sppedar Denaranfiulid e erer GCprésb

(B) seumpavuiorer sHpd Quimmer

(C) uredand

(D)  eppler Adlg giiey

(BE) oen GzMwaldame
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198. Given below are two statements, one is labelled as :

Assertion [A] : Systems of education which are place-speciﬁc, time-
specific and person specific are said to be formal and
‘are created by laid down law and procedures.

Reason [R]: - Open universities and open schools are the examples of
a formal system of education because they are created
by laid down procedure.

In the light of the above statements, choose the correct answer from the
options given below:
(A) Both [A] and [R] are true and [R] is the correct explanation of [Al

(B) Both [A] and [R] are true, but [R] 1s not the correct explanation -
of [A] ;

(C)%] is true but [R] is false
(D) [A] is false but [R] is true
(E) Answer not known

&G Oer@ssiuc_ferar Gram® oiflsmasd, aduynsssd erdamib wHGpmenm)
sryerd ereorg Gluwfl e Harang.

sigiorend [A] 1 @@l a;rrm-@‘fﬁluﬁr'_l_ HDID BUT-GHII L sdhed
(PeDEET (peppuinarnet el FmpULIGEETDET wHpIh e

U@GSaLILIL L FU L tb LoHHILD BEnL_(LPEDEETTED
2 (HUMGSLILILL_enel.
sryawrd [R] : Apps Ldsme spsrisdT LoD Hpps  HoolLdelser

apenpuwiren seel apenpuder rHdFISET_ (ST, erOaralld simeu
GUGSSLILIL L. BN (LPENDSETTE) 2 (FeUTSSLIIIL 1L anal.

GG eodwr  flsmssellar  egiueLlo, §Cp  Qar@asiu Herer

alprunseile @mpe sfurer ufldsmer CoiE0sHEsaD.

(A) [A] wpmbd [R] @yem@n 2 amew. Guoand [R] erenuigy [A] @enr sflwuner
eller&s s @b

B [A] wpmb [R] @ranGid o a@menw. Cogyn [R] arairg [A] Qe sflwunar

ar&Eb @deana

(C)  [A] 2 dameno, gpamméd [R] seupreng

D) [A] sag, <peme [R] 2 arenw.

(B) efei Opfweldara
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199. Consider the following statement about Physical Education and choose

the right option given:

(Ay

Physical education helps the students to be sensitive to the

problem of population explosion

(Byﬁle main objective of physical education is to develop organic

©€)

D)

(£

fitness

Physical education gives essential information about personal and

community health

Physical education aims to understand demographic concepts and

processes

Answer not known

oL psdall upflu  Geaamd seses uffdss, CerdssuULL gflwimen
Amuusmgs CabEs0HESa|D.

(A)

®)

(O

D)

(E)

o | heded, waseT Ggmasl QUEBESSSET TEF@ETEL LOTETEITSET 2 6Ty

2 gedps
o |phadeiuler wsfu Crprésh afiv 2L p sEdow atamiuugnGLh

o | pawed sefpuir wpmbd sepsmu GrrESLD Giss SisHurafu
FEADEMET QUBIGEDS]

o |hsded wEsar Agrass Camiumhamerind Qeud@panpasmariibd LfbgE

Qanaiauamg Cpréswnnss Qsmamibererg)

fenL Qgflueloeme
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200. Match correctly the year with its events:

(a) 1937 1. First attempt to conceptualize population
education in India

(b) 1969 2. Ishwar Bhai patel committee was appointed by
government of India

(c) 1977 3. Socially useful productive work was introduced
in school education

(d) 1978 4, Wood and Abbott emphasis on activity —

centred education

@ ® © @
A 1 3 2
B 4 2 1
oV 1 2
D 2 3 1

(E) Answer not known

4
3
3
4

umLEms Hape 6t QUIBSSLD

(a) 1937 - 1. @pdurefler wasdr Garess sdefaw as@g,ﬁum
Qeiugharer upsd wpuHa

(b) 1969 2. GG uGLéd B @gﬁ\u - eend
(If)]UJLISIéSGSL'JLIi_l_gj

(c) 1977 3. uerafls soeflulid sapss LwgyaTer 2 HuBHL Lelsdr
SIHpsILHESSILC L6

(d 1978 4, gL wpmbd HCGur. Qeudur® @wwiILESSILL

soeilsE apsfugseuid.
@ O o @

Aa) 1 3 2 4
B 4 27 .7 3
©) 4 I egie A H
@) 2-%" 841 4

(E) eflen Qsfweficraned
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Read the following instructions carefully before you begin to answer the questions.

10.
1L

IMPORTANT INSTRUCTIONS

You will be supplied with this gquestion booklet 15 minutes prior to the commencement of the examination.

This question booklet contains 200 questions. Before answering the questions, you are requested to check
whether all the guestions are printed serially and ensure that there are no blank pages in the question
booklet. If any defect is noticed in the question booklet, it shall be reported to the invigilator
within the first 10 minutes and get it replaced with a complete guestion booklet. If the defect
is reported after the commencement of the examination, it will not be replaced.

Answer all the questions. All the questions carry equal marks.

You must write your register number in the space provided on the top right side of this page. Do not
write anything else on the question booklet.

An answer sheet will be supplied to you separately by the room invigilator to shade the answers.
Instruetions regarding filling of answers etc,, which are to be followed mandatorily, are provided in the
anewer sheet and in the memorandum of admission (Hall Ticket). ;

You shall write and shade your question bocklet pnumber in the space provided on page one of the

answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated.

Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each guestion. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct.

You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
After the examipation. you must hand over your apgwer sheet to the invigilator. You are allowed to
take the question booklet with you only after the examination is over.

You should not make any marking in the question booklet except in the sheets before the

last page of the question booklet, which can be used for rough work. This should be strictly
adhered to. '

In all matters, the English version is final.

Failure to comply with any of the above instructions will render you liable for such action as the

. Commission may decide at their discretion.
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